

Lead • Partner • Innovate • Excel

January 11, 2024

To: Vendors for Office Supplies IFB 23-12-003

RE: Bid Results

The following bid analysis sheets show the prices that were bid for Office Supplies for Madison-Oneida BOCES and its participating districts. This bid was awarded on a total award basis as highlighted in green. Items in red have been disqualified.

This bid was approved by the Madison-Oneida BOCES Board of Education at their monthly meeting on January 9, 2024.

This letter does not constitute an order. Receipt of a valid school district purchase order will be notification of an order.

Thank you for your continued support and participation in our bidding program.

Sincerely,

Madison-Oneida BOCES Cooperative Bidding Service

Chui Spratie

Bids Were Received From the Following Vendors For Office Supplies IFB 23-12-003:

Cascade School Supplies

Attention: Todd E. Shafer 1 Brown Street, PO Box 780 North Adams, MA 01247 Phone: 413-663-3716 Fax: 413-663-3719

Email: todd@cascadeschoolsupplies.com
Website: www.cascadeschoolsupplies.com

Details: Please Reference Madison-Oneida BOCES IFB 23-12-003 on Purchase Order

Hummel's Office Plus

Attention: Harrison J. Hummel IV

25 Canal Street

Mohawk, New York 13407 Phone: 800-765-4866 Fax: 800-673-3747

Email: bids@hummelsop.com
Website: www.hummelsop.com

Details: Please Reference Madison-Oneida BOCES IFB 23-12-003 on Purchase Order

Office Supplies IFB 23-12-003 Opened December 5, 2023 at 3:00 PM **Total Award**

Contract Effective	May 1	, 2024 ·	- April 30,	2025
--------------------	-------	----------	-------------	------

Vendor	Items on Bid	Items Bid	Percentage	Total
Hummel's Office Plus	317	316	99.68%	\$87,207.86
Cascade School Supplies	317	242	76.34%	\$95,498.99

					пи	mmel's Office	Pius			
14 44	0-1	Harry On a differentian	O	Manufacture	\/	Deales as Cine	Delete Dist	1.1-24	Hatt Dates	Establish in
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
31000	Batteries	Battery, Rechargable, AA, 4/pk	30	Energizer	EVENH15BP4	4 PACK	\$13.75	4	\$3.4375	\$412.50
31000	Dalleries	Battery, Rechargable, AA, 4/pk	30	Energizer	EVENITION 4	4 PACK	φ13.75		φ3.4373	φ 4 12.50
31001	Batteries	Battery, Rechargable, AAA, 4/pk	30	Energizer	EVENH12BP4	4 PACK	\$13.75	4	\$3.4375	\$412.50
							- + + + + + + + + + + + + + + + + + + +			* * * * * * * * * * * * * * * * * * *
31002	Batteries	Battery, Rechargable, C, 2/pk	6	Energizer	EVENH35BP2	2 PACK	\$13.75	2	\$6.8750	\$82.50
31003	Batteries	Battery, Rechargable, D, 2/pk	10	Energizer	EVENH50BP2	2 PACK	\$13.75	2	\$6.8750	\$137.50
		Charger, for Rechargable Batteries, Must Accept								
31004	Batteries	AA, AAA, C, D Sizes & All Brands, Each	7	Energizer	EVECHFC	EACH	\$32.00	1	\$32.0000	\$224.00
04005	D " '	Charger, for Rechargable 9-Volt Batteries, Must	•		EVEOUE0	EAGU	# 00.00		# 00 0000	004.00
31005	Batteries	Accept All Brands, Each	2	Energizer	EVECHFC	EACH	\$32.00	1	\$32.0000	\$64.00
31006	Batteries	Battery, Lantern, 6-Volt, Each	4	Energizer	EVE5291	EACH	\$14.00	1	\$14.0000	\$56.00
31000	Datteries	Binder, 3-Ring, Economy, With Pockets, 1" Rings, 8-	4	Lileigizei	LVLJZ91	LACIT	φ14.00	<u> </u>	φ14.0000	φ30.00
32000	Binders	1/2" x 11", Black	65	Avery	AVE03301	EACH	\$1.45	1	\$1.4500	\$94.25
-		Binder, 3-Ring, Economy, With Pockets, 1" Rings, 8-		, , , , ,			 		************	70.1.20
32001	Binders	1/2" x 11", Blue	70	Avery	AVE03300	EACH	\$1.45	1	\$1.4500	\$101.50
		Binder, 3-Ring, Economy, With Pockets, 1" Rings, 8-								
32002	Binders	1/2" x 11", Red/Burgundy	35	Avery	AVE03310	EACH	\$1.45	1	\$1.4500	\$50.75
		Binder, 3-Ring, Economy, With Pockets, 1-1/2"								
32003	Binders	Rings, 8-1/2" x 11", Black	30	Avery	AVE03401	EACH	\$2.15	1	\$2.1500	\$64.50
00004	B: 1	Binder, 3-Ring, Economy, With Pockets, 1-1/2"			A) (=00.400	E4.011	00.45		00.4500	
32004	Binders	Rings, 8-1/2" x 11", Blue	20	Avery	AVE03400	EACH	\$2.15	1	\$2.1500	\$43.00
32005	Binders	Binder, 3-Ring, Economy, With Pockets, 1-1/2" Rings, 8-1/2" x 11", Red/Burgundy	25	Business Source	BSN28553	EACH	\$3.15	1	\$3.1500	\$78.75
32003	Dilluers	Binder, 3-Ring, Economy, With Pockets, 2" Rings, 8-	20	Dusiness Source	D3N20000	EACH	φ3.13	<u> </u>	φ3.1500	φ/ο./5
32006	Binders	1/2" x 11", Black	45	Avery	AVE03501	EACH	\$2.45	1	\$2.4500	\$110.25
02000	2	Binder, 3-Ring, Economy, With Pockets, 2" Rings, 8-		7.1.5.)	711 200001		Ψ2σ			ψ <u></u>
32007	Binders	1/2" x 11", Blue	20	Avery	AVE03500	EACH	\$2.45	1	\$2.4500	\$49.00
		Binder, 3-Ring, Economy, With Pockets, 2" Rings, 8-								
32008	Binders	1/2" x 11", Red/Burgundy	22	Avery	AVE03510	EACH	\$2.45	1	\$2.4500	\$53.90
		Binder, 3-Ring, Economy, With Pockets, 3" Rings, 8-								
32009	Binders	1/2" x 11", Black	55	Avery	AVE03602	EACH	\$3.89	1	\$3.8900	\$213.95
00040	D: 1	Binder, 3-Ring, Economy, With Pockets, 3" Rings, 8-	00		A) /E00004	EAGU	00.40		00.4000	# 00.00
32010	Binders	1/2" x 11", Blue Binder, 3-Ring, Economy, With Pockets, 3" Rings, 8-	20	Avery	AVE03601	EACH	\$3.49	1	\$3.4900	\$69.80
32011	Binders	Binder, 3-Ring, Economy, With Pockets, 3" Rings, 8-1/2" x 11", Red/Burgundy	20	Avery	AVE03608	EACH	\$3.49	1	\$3.4900	\$69.80
32011	סווועכוס	Binder, 3-Ring, View, With Pockets, 1" Rings, Clear	20	Avery	AVEUSUUU	LACIT	ψυ.49		φυ.4900	φυσ.ου
32012	Binders	Overlay, 8-1/2" x 11", White	100	Avery	AVE05711	EACH	\$1.49	1	\$1.4900	\$149.00
	23010	Binder, 3-Ring, View, With Pockets, 1-1/2" Rings,		7.1.51	7.7.2307.17				ŢIUUU	ų
32013	Binders	Clear Overlay, 8-1/2" x 11", White	55	Avery	AVE05726	EACH	\$2.15	1	\$2.1500	\$118.25
		Binder, 3-Ring, View, With Pockets, 2" Rings, Clear								
32014	Binders	Overlay, 8-1/2" x 11", White	75	Avery	AVE05731	EACH	\$2.59	1	\$2.5900	\$194.25

Office Supplies IFB 23-12-003 Opened December 5, 2023 at 3:00 PM Summary

Contract Effective May 1, 2024 - April 30, 2025

					114	illiller 3 Office	1 100			
Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
		Binder, 3-Ring, View, With Pockets, 3" Rings, with								
32015	Binders	Clear Overlay, 8-1/2" x 11", White	50	Avery	AVE05741	EACH	\$3.85	1	\$3.8500	\$192.50
		Data Binder, expandable, 8 1/2 x 11 with 6"								
32016	Binders	expansion, Red	10	Acco	ACC55261	EACH	\$14.99	1	\$14.9900	\$149.90
		Set, Tab Divider, A-Z, Table of Contents, 8-1/2" x								
32017	Binders	11", Multicolor	100	Business Source	BSN21905	SET (25)	\$3.99	1	\$3.9900	\$399.00
		Set, Tab Dividers, Insertable Reference, Copper								
32018	Binders	Reinforced, 8-1/2" x 11", Multicolor	150	Business Source	BSN36692	SET (5)	\$0.59	1	\$0.5900	\$88.50
		Protector, Sheet, Non-Glare, Clear, 3.0 Mil, Vinyl,								
32019	Binders	Top Loaded, 3 Hole Punched, 8-1/2" x 11"	50	Business Source	BSN74449	100/PACKAGE	\$7.79	100	\$0.0779	\$389.50
		Protector, Sheet, Non-Glare Vinyl, Top Loaded, 3								
32020	Binders	Hole Punched, 8-1/2" x 11"	50	Business Source	BSN32356	50/PACKAGE	\$2.69	50	\$0.0538	\$134.50
32021	Binders	Binder, 3-Ring, Economy, 5" Rings, 8-1/2" x 11"	10	Business Source	BSN 28445	EACH	\$8.59	1	\$8.5900	\$85.90
		Protector, Sheet, Clear, Non-Stick, Medium Weight,								
32380	Binders	2.4 Mil, Top Loaded, 3 Hole Punched, 8-1/2" x 11"	40	Business Source	BSN32357	50/PACKAGE	\$2.89	50	\$0.0578	\$462.40
		Binder, D-Ring, View, With Pockets, 1" Rings, Clear								
32399	Binders	Overlay, 8-1/2" x 11", White	20	Avery	AVE17012	EACH	\$2.49	1	\$2.4900	\$49.80
		Binder, D-Ring, View, With Pockets, 1-1/2" Rings,								
32400	Binders	Clear Overlay, 8-1/2" x 11", White	10	Avery	AVE17022	EACH	\$2.99	1	\$2.9900	\$29.90
00404	D: 1	Binder, D-Ring, View, With Pockets, 2" Rings, Clear	40		A) /F 47000	EAGU	04.50		0.4.5000	0.45.00
32401	Binders	Overlay, 8-1/2" x 11", White	10	Avery	AVE17032	EACH	\$4.59	1	\$4.5900	\$45.90
20000	0-11-4	Calculator, 12-Digit, Dual Power, Desktop, Large	50	Mistan Tarkarakania	VOT4400	EAGU	#47.0 5	,	#47.0500	#007.50
32023	Calculators	Display	50	Victor Technologies	VCT1190	EACH	\$17.95	1	\$17.9500	\$897.50
00005	0 1 1 1	D D II D 1144 : 0: 1 0 4/4II 4501	440	ъ . о	D0N04004E4	EAGU	00.40		00.4000	450.00
32025	Calculators	Paper, Roll, Red Warning Signal, 2-1/4" x 150'	110	Business Source	BSN31821EA	EACH	\$0.49	1	\$0.4900	\$53.90
32026	Calendars	Base, Calendar, Desk, Daily, 4-1/2" x 8", Black	10	At A Glance	AAGE2100	EACH	\$8.00	1	\$8.0000	\$80.00
32020	Caleridars	Calendar, 16-Month, Desk/Wall, Sept. Through Dec.	10	At A Giance	AAGEZ100	EACH	\$0.00		\$6.0000	φου.υυ
32027	Calendars	Of Following Year, 17" x 22"	215	House Of Doolittle	HUMSK241600	EACH	\$4.99	4	\$4.9900	\$1,072.85
32021	Caleridars	Calendar, Desk, Daily, 12-Month, 1/2 Hour Appoint.,	213	House Of Doolittle	HUWSK24 1000	EACH	Φ4.99		φ4.9900	φ1,072.00
32028	Calendars	2 Pages/Weekday, 4-1/2" x 8"	15	At A Glance	AAGE21050	EACH	\$10.00	1	\$10.0000	\$150.00
32020	Caleridars	Calendar, Wall, School Events, Current School	10	At A Giance	AAGEZ1000	EACH	\$10.00		\$10.0000	\$150.00
32344	Calendars	Year, 80# Paper, 24-1/2" x 38"	45	School Specialty	SSP2104119	5/PACK	\$13.00	5	\$2.6000	\$117.00
32344	Calciluais	·	43	School Specially	3372104118	3/FACK	φ13.00	<u> </u>	φ2.0000	Ψ117.00
		Calendar, Hardcover Monthly Planner, Julian,								
22202	Coloradara	Monthly 1 year, January til December 6 7/8 x 8 3/4	10	At A Clares	A A C C 400 LIDO	FACU	£10.00		¢42.0000	¢120.00
32392	Calendars	wire bound, black, non refillable	10	At A Glance	AAGG400H00	EACH	\$12.00		\$12.0000	\$120.00
		Calendar, 13 month planner, recycled with flexible								
00000		cover, wire bound, one month per two pages, non							0.4.4.555	0.405.33
32398	Calendars	refillable, 9" x 11"	30	At A Glance	AAG70260G05	EACH	\$14.00	1	\$14.0000	\$420.00

					пи	mmer's Office	riu5			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
		Calendar, Monthly Planner, Julian, 1 Year, January								
22402	Calandara	to December, 6 7/8 x 8 3/4 wire bound, black, non	10	At A Clares	A A C C 40000	EACH	#40.00	1	£40,0000	¢400.00
32403	Calendars	refillable, non hardcover	10	At A Glance	AAGG40000	EACH	\$10.00	<u> </u>	\$10.0000	\$100.00
32409	Calendars	Desk Calendar Refill, 3.5 x 6	5	At A Glance	AAG71750	EACH	\$2.95	1	\$2.9500	\$14.75
32029	Clips/Clipboards	Clipboard, 6" Steel Spring Clip, Hard Board, 9" x 12"	90	Business Source	BSN65637	EACH	\$1.59	1	\$1.5900	\$143.10
32030	Clips/Clipboards	Clip, Binder, 1" paper capacity, 2" width, Black	90	Business Source	BSN36552	12/BOX	\$1.90	12	\$0.1583	\$171.00
32031	Clips/Clipboards	Clip, Binder, 1/4" paper capacity, 1/2" width, Black	95	Business Source	BSN65364	12/BOX	\$0.39	12	\$0.0325	\$37.05
32032	Clips/Clipboards	Clip, Binder, 5/16" paper capacity, 3/4" width, Black	75	Business Source	BSN36550	12/BOX	\$0.39	12	\$0.0325	\$29.25
32033	Clips/Clipboards	Clip, Binder, 5/8"paper capaity, 1 1/4" wide, Black	75	Business Source	BSN36551	12/BOX	\$0.79	12	\$0.0658	\$59.25
32034	Clips/Clipboards	Clip, Butterfly, Large 12/pk	60	Officemate	OIC99966	12/BOX	\$0.75	12	\$0.0625	\$45.00
32035	Clips/Clipboards	Clip, Butterfly, Medium 50/pk	90	Officemate	OIC99957	50/BOX	\$1.15	50	\$0.0230	\$103.50
32036	Clips/Clipboards	Clip, Paper, Non-Skid, Large 100/pk	110	Business Source	BSN53366BX	100/BOX	\$0.65	100	\$0.0065	\$71.50
32037	Clips/Clipboards	Clip, Paper, Non-Skid, Regular 100/pk	100	Business Source	BSN65365BX	100/BOX	\$0.35	100	\$0.0035	\$35.00
32038	Clips/Clipboards	Clip, Paper, Smooth Finish, Large 100/pk	200	Business Source	BSN65639BX	100/BOX	\$0.65	100	\$0.0065	\$130.00
32039	Clips/Clipboards	Clip, Paper, Smooth Finish, Regular 100/pk	115	Business Source	BSN65638BX	100/BOX	\$0.35	100	\$0.0035	\$40.25
32040	Clips/Clipboards	Clip, Paper, Vinyl Coated, Large, Assorted 200/pk	30	Business Source	BSN01604	200/PKG	\$2.59	200	\$0.0130	\$77.70
32041	Clips/Clipboards	Clip, Paper, Vinyl Coated, Regular, Assorted 500/pk	30	Business Source	BSN01605	500/PKG	\$2.59	500	\$0.0052	\$77.70
32042	Clips/Clipboards	Dispenser, Paper Clip, Magnetic, Jumbo	6	Universal	UNV08126	EACH	\$1.59	1	\$1.5900	\$9.54
32043	Clips/Clipboards	Dispenser, Paper Clip, Magnetic, Small	5	Business Source	BSN11796	EACH	\$2.59	1	\$2.5900	\$12.95
32044	Correction Fluid	Fluid, Correction, Fast Dry Bond, Foam Applicator, 22 ml, White	55	BIC	BICWOFQD324	3/PACK	\$3.29	60	\$0.0548	\$66.35
32044	Correction r luiu	Fluid, Correction, For Everything, Foam Applicator,	- 55	OIG .	DIOWOI QD324	3/1 AOR	ψυ.Ζυ	00	Ψ0.00+0	ψ00.00
32046	Correction Fluid	22 ml, Buff	50						\$0.0000	\$0.00
32052	Correction Fluid	Fluid, Correction, Just For Copies, Foam Applicator, 22 ml, White	10	BIC	BICWOFQD324	3/PACK	\$3.29	3	\$1.0967	\$10.97
		Fluid, Correction, Pen & Ink, Foam Applicator, 22								
32053	Correction Fluid	ml, White	25	BIC	BICWOFQD324	3/PACK	\$3.29	60	\$0.0548	\$30.16

Office Supplies IFB 23-12-003 Opened December 5, 2023 at 3:00 PM Summary

Contract Effective May 1, 2024 - April 30, 2025

					пи	mmer's Office	rius			
Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
00055	0 " "	D 0 " 04 W""	00	DIO	DIOMOGODIA	EAGU	00.00	•	#0.0000	04.40
32055	Correction Fluid	Pen, Correction, .24 oz, White	20	BIC	BICWOSQP11	EACH	\$2.39	8	\$0.2988	\$1.43
22056	Composition Fluid	Dan Compation Tone White	45	DIC	DICWOEL D44	FACU	CO 4C	4	#0.4600	¢07.00
32056	Correction Fluid	Pen, Correction, Tape, White	45	BIC	BICWOELP11	EACH	\$2.16	1	\$2.1600	\$97.20
32390	Correction Fluid	Liquid Paper Dryline Grip Correction Tape, Assorted Colors 2/pk	40	Donormoto	DAD07042	2/DACK	¢4.90	2	©2.44E 0	¢105.60
32390	Correction Fluid	Colors 2/pk	40	Papermate	PAP87813	2/PACK	\$4.89		\$2.4450	\$195.60
		Portfolio, Twin Pocket, Laminated, With Business								
32063	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Black 25/bx	20	Business Source	BSN44425	25/BOX	\$19.00	25	\$0.7600	\$380.00
02000	OOVCIS/I OITIOIOS	Portfolio, Twin Pocket, Laminated, With Business	20	Dusiness Cource	DOINTHAZO	20/007	Ψ13.00		ψ0.7 000	Ψ000.00
		Card Holder, No Prongs, 8-1/2" x 11", Dark Blue								
32064	Covers/Portfolios	25/bx	20	Business Source	BSN44430	25/BOX	\$19.00	25	\$0.7600	\$380.00
02001	COVOICH CITICIOS	Portfolio, Twin Pocket, Laminated, With Business	20	Buointoco Courco	DOITTIOO	Lorbon	Ψ10.00		ψοσσσ	Ψ000.00
		Card Holder, No Prongs, 8-1/2" x 11", Light Blue								
32066	Covers/Portfolios	25/bx	30	Business Source	BSN44423	25/BOX	\$19.00	25	\$0.7600	\$570.00
		Portfolio, Twin Pocket, Laminated, With Business							- +	4010100
32067	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Red 25/bx	20	Business Source	BSN44426	25/BOX	\$19.00	25	\$0.7600	\$380.00
		Portfolio, Twin Pocket, Laminated, With Business	-							
32068	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", White 25/bx	20	Business Source	BSN44424	25/BOX	\$19.00	25	\$0.7600	\$380.00
		Cover, Report, Paper Cover, Tang Clip, 1/2"								
32362	Covers/Portfolios	Capacity, 8-1/2" x 11", Assorted 25/bx	15	Esselte	OXF52513	25/BOX	\$19.00	25	\$0.7600	\$285.00
		•								
		Portfolio, Twin Pocket, Laminated, With Business								
32366	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Black 25/bx	10	Esselte	OXF51706	25/BOX	\$41.00	25	\$1.6400	\$410.00
		Portfolio, Twin Pocket, Laminated, With Business								
		Card Holder, No Prongs, 8-1/2" x 11", Dark Blue								
32367	Covers/Portfolios	25/bx	10	Esselte	OXF51743	25/BOX	\$41.00	25	\$1.6400	\$410.00
		Portfolio, Twin Pocket, Laminated, With Business								
		Card Holder, No Prongs, 8-1/2" x 11", Light Blue								
32368	Covers/Portfolios	25/bx	20	Esselte	OXF51701	25/BOX	\$41.00	25	\$1.6400	\$820.00
		Portfolio, Twin Pocket, Laminated, With Business								
32369	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Red 25/bx	20	Esselte	OXF51711	25/BOX	\$41.00	25	\$1.6400	\$820.00
		Portfolio, Twin Pocket, Laminated, With Business	_			/				
32370	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", White 25/bx	5	Esselte	OXF51704	25/BOX	\$41.00	25	\$1.6400	\$205.00
		Death-lie Toda Dealest I 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1								
20004	Cavara/Dauta-II	Portfolio, Twin Pocket, Laminated, With Business	F05	Dunimans Occurr	DON/4407	05/00	¢47.00	25	#0.0000	#0.005.00
32381	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Green 25/bx	525	Business Source	BSN44427	25/BOX	\$17.00	25	\$0.6800	\$8,925.00
		Portfolio Twin Poeket, non leminated with Principaes								
33386	Covers/Portfolios	Portfolio, Twin Pocket, non-laminated, with Business Card Holder, No Prongs, 8-1/2" x 11", Yellow 25/bx	25	Esselte	OXF57509	25/BOX	\$12.00	25	\$0.4800	\$300.00
32300	COVEIS/POILIONOS	Calu Holdel, No Florigs, 0-1/2 X 11 , Tellow 25/DX	20	ESSEILE	UAF3/309	ZUIDUA	φ12.00	25	φυ.4000°	φ300.00
32072	Desk Accessories	Tray, Desk, Self Stacking, 13-3/16" x 2-3/4" x 9"	30	Business Source	BSN42585	EACH	\$3.49	1	\$3.4900	\$104.70
32012	DESK ACCESSUITES	Envelope, Clasp, Kraft Paper, 28#, 100/Box, 10" x	30	Dusiness Source	D3N42303	EACH	φ3.49		\$3.4900	φ104.70
32077	Envelopes	13", Brown 1	15	Business Source	BSN36665	100/BOX	\$16.75	100	\$0.1675	\$251.25
02011	Livelopes	io, biowii i	10	Dasiness Cource	DOI 100000	100/007	Ψ10.70	100	ψυ. 1070	Ψ201.20

					Hu	mmel's Office	Plus			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
32078	Envelopes	Envelope, Clasp, Kraft Paper, 28#, 100/Box, 12" x 15-1/2", Brown	5	Business Source	BSN36667	100/BOX	\$21.00	100	\$0.2100	\$105.00
02070	Livelopes	Envelope, Clasp, Kraft Paper, 28#, 100/Box, 6" x 9",		Dusiness Cource	<u> </u>	100/BOX	Ψ21.00	100	ψ0.2100	Ψ100.00
32079	Envelopes	Brown	5	Business Source	BSN36660	100/BOX	\$12.85	100	\$0.1285	\$64.25
32080	Envelopes	Envelope, Clasp, Kraft Paper, 28#, 100/Box, 9" x 12", Brown	20	Business Source	BSN36663	100/BOX	\$15.00	100	\$0.1500	\$300.00
		Envelope, Interoffice, Printed 2 Sides, 28#,							70	
32081	Envelopes	Button/String Enclosure, 10" x 13", Brown 100/pk	15	Business Source	BSN42255	100/BOX	\$29.50	100	\$0.2950	\$442.50
32084	Envelopes	Envelope, Plain, 24 lb, Peel Off Strip To Seal, #10, White 500/pk	10	Business Source	BSN36682	500/BOX	\$44.00	500	\$0.0880	\$440.00
32086	Envelopes	Moistener, Envelope, With Adhesive, 50 ml 4/pk	10	Quality Park	QUA46071	4/PACK	\$8.00	4	\$2.0000	\$80.00
32073	Fasteners	Fastener, Brass Plated, 3/8" x 1" 100/pk	10	Officemate	OIC99814	100/BOX	\$1.39	100	\$0.0139	\$13.90
32088	Fasteners	Fastener, Brass Plated, 1/2" x 2" 100/pk	10	Officemate	OIC99817	100/BOX	\$6.00	100	\$0.0600	\$60.00
32090	Filing	File, Expanding, Heavy Duty, Without Flap, Letter, A-Z, 21 Pocket	20	Business Source	BSN26534	EACH	\$7.00	1	\$7.0000	\$140.00
32091	Filing	Folder, File, Colored, 1/3 Cut, Letter, Assorted 100/pk	40	Business Source	BSN65780	100/BOX	\$22.00	100	\$0.2200	\$880.00
32092	Filing	Folder, File, Colored, 1/3 Cut, Letter, Blue 100/pk	35	Business Source	BSN65779	100/BOX	\$20.00	100	\$0.2000	\$700.00
32093	Filing	Folder, File, Colored, 1/3 Cut, Letter, Bright Green 100/pk	30	Business Source	BSN65777	100/BOX	\$22.00	100	\$0.2200	\$660.00
32094	Filing	Folder, File, Colored, 1/3 Cut, Letter, Burgundy 100/pk	25	Smead	SMD13093	100/BOX	\$30.00	100	\$0.3000	\$750.00
32095	Filing	Folder, File, Colored, 1/3 Cut, Letter, Gray 100/pk	20	Smead	SMD12343	100/BOX	\$30.00	100	\$0.3000	\$600.00
32096	Filing	Folder, File, Colored, 1/3 Cut, Letter, Navy Blue 100/pk	20	Smead	SMD13193	100/BOX	\$25.00	100	\$0.2500	\$500.00
32097	Filing	Folder, File, Colored, 1/3 Cut, Letter, Orange 100/pk	25	Business Source	BSN44105	100/BOX	\$22.00	100	\$0.2200	\$550.00
32098	Filing	Folder, File, Colored, 1/3 Cut, Letter, Pink 100/pk	25	Smead	SMD12643	100/BOX	\$25.00	100	\$0.2500	\$625.00
32099	Filing	Folder, File, Colored, 1/3 Cut, Letter, Purple 100/pk	25	Business Source	BSN44106	100/BOX	\$22.00	100	\$0.2200	\$550.00
32100	Filing	Folder, File, Colored, 1/3 Cut, Letter, Red 100/pk	35	Business Source	BSN65776	100/BOX	\$22.00	100	\$0.2200	\$770.00
32101	Filing	Folder, File, Colored, 1/3 Cut, Letter, Teal 100/pk	20	Smead	SMD13143	100/BOX	\$25.00	100	\$0.2500	\$500.00
32102	Filing	Folder, File, Colored, 1/3 Cut, Letter, White 100/pk	25	Smead	SMD12843	100/BOX	\$25.00	100	\$0.2500	\$625.00
32103	Filing	Folder, File, Colored, 1/3 Cut, Letter, Yellow 100/pk	25	Business Source	BSN65778	100/BOX	\$22.00	100	\$0.2200	\$550.00

Office Supplies IFB 23-12-003 Opened December 5, 2023 at 3:00 PM Summary

Contract Effective May 1, 2024 - April 30, 2025

Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
20405	F :::	Falder File 4/0 Out Latter Marrilla 400/als	7.5	D	DONATEOE	400/DOV	#0.05	400	#0.000 F	# 000 75
32105	Filing	Folder, File, 1/3 Cut, Letter, Manila 100/pk	75	Business Source	BSN17525	100/BOX	\$9.25	100	\$0.0925	\$693.75
32106	Filing	Folder, Hanging, Colored, 1/5 Cut, Letter, Assorted	10	Business Source	BSN5215AST	25/BOX	¢1E 7E	25	\$0.6300	¢157.50
32100	Filing	25/pk Folder, Hanging, Colored, 1/5 Cut, Letter, Black	10	business source	D3N3213A31	25/607	\$15.75	25	\$0.0300	\$157.50
32107	Filing	25/pk	2	Smead	SMD64062	25/BOX	\$22.00	25	\$0.8800	\$44.00
32107	Filling	Folder, Hanging, Colored, 1/5 Cut, Letter, Blue		Silleau	311111111111111111111111111111111111111	25/607	ΦΖΖ.00	20	φυ.σουυ	φ44.00
32108	Filing	25/pk	6	Business Source	BSN03176	25/BOX	\$22.00	25	\$0.8800	\$132.00
32100	ı ııııg	Folder, Hanging, Colored, 1/5 Cut, Letter, Bright	0	Dusiness Source	DOINOSTTO	23/00/	ΨΖΖ.00		φυ.σσσσ	ψ132.00
32109	Filing	Green 25/pk	3	Business Source	BSN03178	25/BOX	\$22.00	25	\$0.8800	\$66.00
02100	ı ııııg	Folder, Hanging, Colored, 1/5 Cut, Letter, Burgundy		Business course	DOINGOTTO	20/00/	ΨΖΖ.00		ψ0.0000	ψ00.00
32110	Filing	25/pk	2	Smead	SMD64073	25/BOX	\$22.00	25	\$0.8800	\$44.00
02110	ı iiiig	Folder, Hanging, Colored, 1/5 Cut, Letter, Gray		Officad	CIVIDOTOTO	ZOIBOX	Ψ22.00		ψυ.υυυυ	Ψ-1-00
32111	Filing	25/pk	2	Smead	SMD64063	25/BOX	\$22.00	25	\$0.8800	\$44.00
02111	9	Folder, Hanging, Colored, 1/5 Cut, Letter, Orange		Cilidad	CINECTOO	20/2070	Ψ22.00		Ψ0.0000	Ψ11.00
32112	Filing	25/pk	10	Universal	UNV14122	25/BOX	\$22.00	25	\$0.8800	\$220.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Pink							+0.000	
32113	Filing	25/pk	3	Smead	SMD64066	25/BOX	\$22.00	25	\$0.8800	\$66.00
	<u> </u>	Folder, Hanging, Colored, 1/5 Cut, Letter, Purple					,			
32114	Filing	25/pk	4	Universal	UNV14120	25/BOX	\$22.00	25	\$0.8800	\$88.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Red								
32115	Filing	25/pk	6	Business Source	BSN03175	25/BOX	\$22.00	25	\$0.8800	\$132.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Yellow								
32116	Filing	25/pk	5	Business Source	BSN03177	25/BOX	\$22.00	25	\$0.8800	\$110.00
		Folder, Hanging, 5 Tab, Letter, Standard Green								
32118	Filing	25/pk	15	Business Source	BSN17533	25/BOX	\$11.00	25	\$0.4400	\$165.00
		Tab, Plastic, with Inserts, for Hanging File Folders,								
32121	Filing	Clear, 3-1/2" 25/pk	30	Business Source	BSN43T	25/BOX	\$3.45	25	\$0.1380	\$103.50
		Pocket, File, Top Tab, Red Rope Gusset, with Mylar								
32383	Filing	Strip Reinforcement, 3-1/2" Expansion, Letter 25/pk	12	Business Source	BSN65791	25/BOX	\$22.00	25	\$0.8800	\$264.00
		Pocket, File, Top Tab, Red Rope Gusset, with Mylar								
32384	Filing	Strip Reinforcement, 5-1/4" Expansion, Letter 10/pk	24	Business Source	BSN65792	10/BOX	\$11.00	10	\$1.1000	\$264.00
32387	Filing	Folder, File, 1/5 Cut, Letter, Manila 100/pk	24	Business Source	BSN43567	100/BOX	\$11.00	100	\$0.1100	\$264.00
00.407		Expanding Wallet, Elastic Closure, Letter Size,		5 . 6	DOMOGETERY	40/50	455.00	40	AF 5000	A 4 0 5 0 0 0
32407	Filing	Brown, 10/Box	30	Business Source	BSN26575BX	10/BOX	\$55.00	10	\$5.5000	\$1,650.00
22400	Cilia a	Expanding Wallet, Elastic Closure, Legal Size,	_	Duaineae Cours	DONOGEZODY	40/DOV	CEE 00	10	¢ E 5000	¢075.00
32408	Filing	Brown, 10/Box	5	Business Source	BSN26576BX	10/BOX	\$55.00	10	\$5.5000	\$275.00
22426	Пана	Flow Colf Chiefe All v. 4.711 Phys. 400/ml	40	NANANA	MANAGOODEO	400/DKC	¢4.00	100	CO 0400	¢40.00
32126	Flags	Flag, Self Stick, 1" x 1.7", Blue 100/pk	10	MMM	MMM680BE2	100/PKG	\$4.80	100	\$0.0480	\$48.00
32127	Flags	Flag, Self Stick, 1" x 1.7", Bright Blue 100/pk	20	MMM	MMM680BB2	100/PKG	\$4.80	100	\$0.0480	\$96.00
32121	ı lays	Triag, Self Stick, T. X.1.7, Bright Blue 100/pk	20	IVIIVIIVI	MIMIMOODDZ	100/FRG	φ4.00	100	φυ.υ460	φ90.00

					Hu	mmel's Office	Plus			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
32128	Flags	Flag, Self Stick, 1" x 1.7", Bright Green 100/pk	20	МММ	MMM680BG2	100/PKG	\$4.80	100	\$0.0480	\$96.00
32129	Flags	Flag, Self Stick, 1" x 1.7", Bright Pink 100/pk	20	МММ	MMM680BP2	100/PKG	\$4.80	100	\$0.0480	\$96.00
32130	Flags	Flag, Self Stick, 1" x 1.7", Green 100/pk	10	MMM	MMM680GN2	100/PKG	\$4.80	100	\$0.0480	\$48.00
32131	Flags	Flag, Self Stick, 1" x 1.7", Orange 100/pk	20	МММ	MMM6800E2	100/PKG	\$4.80	100	\$0.0480	\$96.00
32132	Flags	Flag, Self Stick, 1" x 1.7", Purple 100/pk	10	МММ	MMM680PU2	100/PKG	\$4.80	100	\$0.0480	\$48.00
32133	Flags	Flag, Self Stick, 1" x 1.7", Red 100/pk	15	МММ	MMM680RD2	100/PKG	\$4.80	100	\$0.0480	\$72.00
32134	Flags	Flag, Self Stick, 1" x 1.7", White 100/pk	3	МММ	MMM680WE2	100/PKG	\$4.80	100	\$0.0480	\$14.40
32135	Flags	Flag, Self Stick, 1" x 1.7", Yellow 100/pk	15	МММ	MMM680YW2	100/PKG	\$4.80	100	\$0.0480	\$72.00
32136	Flags	Flag, Self Stick, Printed, "Initial Here" with Arrow, 1" x 1-3/4", Blue 100/pk	4	MMM	MMM680IH2	100/PKG	\$4.80	100	\$0.0480	\$19.20
32137	Flags	Flag, Self Stick, Printed, "Notarize" with Arrow, 1" x 1-3/4", Yellow 100/pk	3	MMM	MMM680NZ2	100/PKG	\$4.80	100	\$0.0480	\$14.40
32139	Flags	Flag, Self Stick, Printed, "Sign Here" with Arrow, 1" x 1-3/4", Red/Yellow 100/pk	30	MMM	MMM680SH2	100/PKG	\$4.80	100	\$0.0480	\$144.00
32140	Glue/Adhesives	Glue, 7-5/8 oz, White	50	Elmer's	EPI308	EACH	\$1.75	1	\$1.7500	\$87.50
32141	Glue/Adhesives	Putty, Adhesive, Removable, 1 oz	40	MMM	MMM860	2 OUNCE / PACKAGE	\$1.75	2	\$0.8750	\$35.00
32142	Glue/Adhesives	Stick, Glue, Dries Clear, .28 oz, Purple 18/pk	50	Avery	AVE98079	18/PKG	\$9.00	18	\$0.5000	\$450.00
32143	Glue/Adhesives	Stick, Glue, Dries Clear, .26 oz, White	60	Business Source	BSN15785	18/PKG	\$4.85	4.68	\$1.0363	\$16.17
32144	Highlighters	Set, Highlighter, Wide Barrel, Chisel Tip, Assorted, 6/Set	100	Integra	ITA30001	6/SET	\$2.98	6	\$0.4967	\$298.00
32145	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Fluorescent Green	12	Integra	ITA33324	DOZEN	\$5.50	12	\$0.4583	\$5.50
32146	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Fluorescent Orange	12	Integra	ITA33322	DOZEN	\$5.50	12	\$0.4583	\$5.50
32147	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Fluorescent Pink	30	Integra	ITA33321	DOZEN	\$4.75	12	\$0.3958	\$11.88
32148	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Fluorescent Yellow	90	Sanford	SAN64324	DOZEN	\$4.25	12	\$0.3542	\$31.88
32149	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Turquoise Blue	12	Integra	ITA33323	DOZEN	\$5.00	12	\$0.4167	\$5.00
32150	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Yellow	60	Integra	ITA30004	DOZEN	\$5.00	12	\$0.4167	\$25.00

Office Supplies IFB 23-12-003 Opened December 5, 2023 at 3:00 PM Summary

Contract Effective May 1, 2024 - April 30, 2025

					Hui	niner's Office	i ius			
	0.1	N 0 15 15	0 17			D 1 0:	D : D: I			
Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
00004	10 10 10	Set, Bic Brite Liner Grip Highlighters, Assorted	50	DIO	DIOODI DE LACOT	E/DICO	00.50	_	00.7000	0475.00
32391	Highlighters	Colors 5/pk	50	BIC	BICGBLP51ASST	5/PKG	\$3.50	5	\$0.7000	\$175.00
00454	ll Ol -	Card, Index, Non-Bound, Ruled, 3" x 5", Assorted	50	l laborar al	LINI\	400/DKO	#0.00	400	#0.0000	# 400.00
32151	Index Cards	100/pk	50	Universal	UNV47216	100/PKG	\$2.00	100	\$0.0200	\$100.00
20450	ll Ol -	Oand Index Non David Dulad Office III Divis 400/ala	40	F#-	OVE7004DLU	400/DKO	#0.00	400	#0.0000	# 00.00
32152	Index Cards	Card, Index, Non-Bound, Ruled, 3" x 5", Blue 100/pk Card, Index, Non-Bound, Ruled, 3" x 5", Canary	10	Esselte	OXF7321BLU	100/PKG	\$2.00	100	\$0.0200	\$20.00
20452	Inday Canda	1	10	Facalta	OVEZ224CAN	400/DICO	#2.00	400	#0.0000	
32153	Index Cards	100/pk Card, Index, Non-Bound, Ruled, 3" x 5", Cherry	10	Esselte	OXF7321CAN	100/PKG	\$2.00	100	\$0.0200	\$20.00
32154	Inday Carda		10	Facelta	OVE7224CHE	100/DKC	#2.00	100	¢0,0200	¢20.00
32134	Index Cards	100/pk Card, Index, Non-Bound, Ruled, 3" x 5", Green	10	Esselte	OXF7321CHE	100/PKG	\$2.00	100	\$0.0200	\$20.00
22455	Inday Carda		_	Facelta	OVE7224CDE	100/DKC	#2.00	100	¢0,0200	¢10.00
32155	Index Cards	100/pk Card, Index, Non-Bound, Ruled, 3" x 5", White	5	Esselte	OXF7321GRE	100/PKG	\$2.00	100	\$0.0200	\$10.00
32156	Index Cards	100/pk	80	Business Source	BSN65259	100/PKG	\$0.85	100	\$0.0085	\$68.00
32130	iliuex Calus	Card, Index, Non-Bound, Ruled, 4" x 6", White	80	Dusiness Source	D3N03239	100/FKG	φυ.ου	100	φυ.υυου	φ00.00
32160	Index Cards	100/pk	50	Business Source	BSN65261	100/PKG	\$0.95	100	\$0.0095	\$47.50
32100	iliuex Calus	Card, Index, Non-Bound, Ruled, 5" x 8", White	50	Dusiness Source	D3N03201	100/FKG	φυ.95	100	φυ.υυθυ	φ47.50
32161	Index Cards	100/pk	45	Business Source	BSN65263	100/PKG	\$1.55	100	\$0.0155	\$69.75
32101	iliuex Calus	Card, Index, Non-Bound, Unruled, 3" x 5", Blue	45	Dusiness Source	D3N03203	100/FKG	Φ1.00	100	φυ.υ 155	φυθ.75
32162	Index Cards	100/pk	20	Esselte	OXF7320BLU	100/PKG	\$2.50	100	\$0.0250	\$50.00
32 102	IIIUEX Calus	Card, Index, Non-Bound, Unruled, 3" x 5", White	20	LSSCILE	OXI 7320DLU	100/FRG	Ψ2.30	100	φυ.υ230	φ30.00
32166	Index Cards	100/pk	45	Business Source	BSN65258	100/PKG	\$0.75	100	\$0.0075	\$33.75
32 100	IIIUEX Calus	Card, Index, Non-Bound, Unruled, 4" x 6", White	45	Dusiness Source	D01103230	100/1100	ψ0.75	100	ψ0.0073	ψ33.73
32170	Index Cards	100/pk	40	Business Source	BSN65260	100/PKG	\$1.75	100	\$0.0175	\$70.00
32170	IIIUEX Calus	Του/ρκ	40	Dusiness Source	D0N03200	100/PKG (ruled)	ψ1.75	100	ψ0.0173	Ψ10.00
		Card, Index, Non-Bound, Unruled, 5" x 8", Blue				unruled is				
32171	Index Cards	100/pk	7	Esselte	OXF7521BLU	unavailable	\$2.75	100	\$0.0275	\$19.25
02171	IIIdox Galas	Card, Index, Non-Bound, Unruled, 5" x 8", White	,	Loscito	OXI 7021BE0	uriavaliabic	ΨΖ.1 Ο	100	ψ0.0210	Ψ13.23
32174	Index Cards	100/pk	4	Business Source	BSN65262	100/PKG	\$2.00	100	\$0.0200	\$8.00
02174	mack daras	Card, Index, Spiral Bound, Ruled, 3" x 5", Assorted	-	Dadificos Codroc	B01100202	100/1110	Ψ2.00	100	ψ0.0200	Ψ0.00
32176	Index Cards	Pastel 50/pk	5	Esselte	OXF40285	50/PKG	\$3.75	50	\$0.0750	\$18.75
02.110		Card, Index, Spiral Bound, Ruled, 4" x 6", Assorted		2000.00	0711 10200	3071.113	ψοσ		Ψοιοί σο	ψ1011 C
32178	Index Cards	Pastel 50/pk	3	Esselte	OXF40286	50/PKG	\$5.00	50	\$0.1000	\$15.00
02170	maox oarao	Card, Index, Spiral Bound, Ruled, 5" x 8", White	- U	Locolio	<u> </u>	00/1110	Ψ0.00		ψο. 1000	Ψ10.00
32180	Index Cards	50/pk	15	Esselte	OXF40284	50/PKG	\$2.00	50	\$0.0400	\$30.00
02.00		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16", White		2000.00	0711 10201	3071.113	Ψ2.00		ψοιο του	400.00
32181	Labels	1500/pk	20	Business Source	BSN26102	1500/PKG	\$9.00	1500	\$0.0060	\$180.00
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",					75.55		,	
32182	Labels	White/Assorted 750/pk	12	Business Source	BSN26101	750/PKG	\$8.00	750	\$0.0107	\$96.00
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",	_						, , , , , ,	
32183	Labels	White/Blue 1500/pk	12	Avery	AVE5766	1500/BOX	\$44.00	1500	\$0.0293	\$528.00
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",		,						
32184	Labels	White/Green 1500/pk	12	Avery	AVE5866	1500/BOX	\$44.00	1500	\$0.0293	\$528.00
							7		71.7200	+ 0 = 0.00

Labels Labels Labels Labels Labels Labels Labels Maintgactures Labels Labels Maintgactures Labels Labels Maintgactures Labels Maintgactures Labels Labels Labels Maintgactures Labels Labels Labels Labels Labels Maintgactures Labels Maintgactures Labels Maintgactures Maintgactures Labels Labels Maintgactures Maintgactures Labels Maintgactures						нu	mmel's Office	Pius			
Labels	Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
Section Sect		<i></i>									
Second Price Seco	32185	Labels		12	Avery	AVE5066	1500/BOX	\$29.00	1500	\$0.0193	\$348.00
Labels L											
Authors	32186	Labels			Avery	AVE5966	1500/BOX	\$29.00	1500	\$0.0193	\$348.00
Labels	20407					A) /=0 400	750/DI/O	405.00	750	40.000	A =0.00
Set Markers Set Marker, Permanent, Chisel Tip, Blue Markers Set Marker, Permanent, Chisel Tip, Blue Markers Set Marker, Permanent, Chisel Tip, Red Set Marker, Permanent, Fine Point, Assorted, 4/set Set Markers Marker, Permanent, Fine Point, Black 12/pk Set Markers Marker, Permanent, Fine Point, Red 12/pk Set Marker, Permanent, Marker	32187	Labels		2	Avery	AVE6466	750/PKG	\$25.00	750	\$0.0333	\$50.00
Labels Labels Labels Red Border, 400/pk 2 Avery AVE5095 400/PkG \$39,00 400 \$0,0975 \$78,00	32188	Labole		10	Rueinose Source	RSN26110	100/PKG	00.92	100	\$0.0800	00 082
Labels	32 100	Labels		10	Dusiness Source	DONZOTTS	100/FKG	φο.σσ	100	φυ.υσυυ	φου.υυ
Labels, Name Badge, Laser/Inkjet, 2-1/3" x 3-3/8", White 400/pk 12 Business Source BSN26144 400/PkG \$13.00 400 \$0.0325 \$156.00 32193 Labels Label, Mailing, Laser, 1" x 2-5/8", White 3000/pk 50 Business Source BSN21050 3000/PkG \$9.25 3000 \$0.0031 \$462.50 32194 Labels Label, Mailing, Laser, 1-1/3" x 4", White 1400/pk 20 Business Source BSN21052 600/PkG \$8.00 1400 \$0.0057 \$160.00 32195 Labels Label, Mailing, Laser, 3-1/3" x 4", White 600/pk 20 Business Source BSN21052 600/PkG \$8.00 600 \$0.0133 \$160.00 32195 Labels Label, Mailing, Laser, 2-1/3" x 4", White 1000/pk 20 Business Source BSN21052 600/PkG \$8.00 1000 \$0.0080 \$160.00 32195 Markers Marker, Permanent, Chisel Tip, Black 50 Integra ITA30011 DOZEN \$4.50 12 \$0.3750 \$18.75 32197 Markers Marker, Permanent, Chisel Tip, Blue 40 Integra ITA33327 DOZEN \$4.50 12 \$0.3750 \$15.00 32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$11.25 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32203 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$60.00 32203 Markers Marker, Permanent, Fine Point, Red 12/pk 10 Sanford SAN30178 DOZEN \$4.00 12 \$0.3333 \$60.00 32208 Markers Marker, Permanent, Fine Point, Red 12/pk 10 Sanford SAN30100 DOZEN \$4.00 12 \$0.3333 \$60.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN30100 DOZEN \$4.00 12 \$0.3333 \$60.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN30100 DOZEN \$4.00 12 \$0.3333 \$60.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN30100 DOZEN \$4.00 12 \$0.3333 \$60.00 \$60.	32190	Labels		2	Averv	AVE5095	400/PKG	\$39.00	400	\$0.0975	\$78.00
Labels			•	_	,					+0.00.0	7.0.00
Labels L	32191	Labels		12	Business Source	BSN26144	400/PKG	\$13.00	400	\$0.0325	\$156.00
Labels L											
Labels L	32193	Labels	Label, Mailing, Laser, 1" x 2-5/8", White 3000/pk	50	Business Source	BSN21050	3000/PKG	\$9.25	3000	\$0.0031	\$462.50
Labels L	00404		4.4/01.41.14/11.4.400/.1	00	D : 0	DONIOGAAA	4.400/DICO	#0.00	4.400	40.0057	# 400.00
32394 Labels Label, Mailing, Laser, 2' x 4", White 1000/pk 20 Business Source BSN26116 1000/PKG \$8.00 1000 \$0.0080 \$160.00 32196 Markers Marker, Permanent, Chisel Tip, Black 50 Integra ITA30011 DOZEN \$4.50 12 \$0.3750 \$18.75 32197 Markers Marker, Permanent, Chisel Tip, Blue 40 Integra ITA33327 DOZEN \$4.50 12 \$0.3750 \$15.00 32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$11.25 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integr	32194	Labels	Label, Mailing, Laser, 1-1/3" x 4", White 1400/pk	20	Business Source	BSN26114	1400/PKG	\$8.00	1400	\$0.0057	\$160.00
32394 Labels Label, Mailing, Laser, 2' x 4", White 1000/pk 20 Business Source BSN26116 1000/PKG \$8.00 1000 \$0.0080 \$160.00 32196 Markers Marker, Permanent, Chisel Tip, Black 50 Integra ITA30011 DOZEN \$4.50 12 \$0.3750 \$18.75 32197 Markers Marker, Permanent, Chisel Tip, Blue 40 Integra ITA33327 DOZEN \$4.50 12 \$0.3750 \$15.00 32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$11.25 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integr	32105	Labole	Label Mailing Laser 3 1/3" v 4" White 600/pk	20	Rueinose Source	BSN21052	600/DKC	00.92	600	¢0 0133	\$160.00
32196 Markers Marker, Permanent, Chisel Tip, Black 50 Integra ITA30011 DOZEN \$4.50 12 \$0.3750 \$18.75 32197 Markers Marker, Permanent, Chisel Tip, Blue 40 Integra ITA33327 DOZEN \$4.50 12 \$0.3750 \$15.00 32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$15.00 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3333 \$60.00 32203 Markers Marker, Permanent, Fine Point, Red 12/pk 15 Int	32 193	Labels	Laber, Mailing, Laser, 3-1/3 X 4, Write 600/pk	20	Business Source	D3N21002	000/FKG	φο.υυ	000	φυ.υ133	\$100.00
32196 Markers Marker, Permanent, Chisel Tip, Black 50 Integra ITA30011 DOZEN \$4.50 12 \$0.3750 \$18.75 32197 Markers Marker, Permanent, Chisel Tip, Blue 40 Integra ITA33327 DOZEN \$4.50 12 \$0.3750 \$15.00 32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$15.00 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3333 \$60.00 32203 Markers Marker, Permanent, Fine Point, Red 12/pk 15 Int	32394	Labels	Label, Mailing, Laser, 2' x 4", White 1000/pk	20	Business Source	BSN26116	1000/PKG	\$8.00	1000	\$0.0080	\$160.00
32197 Markers Marker, Permanent, Chisel Tip, Blue 40 Integra ITA33327 DOZEN \$4.50 12 \$0.3750 \$15.00 32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$11.25 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford			, , , , , , , , , , , , , , , , , , ,	-							
32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$11.25 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford </td <td>32196</td> <td>Markers</td> <td>Marker, Permanent, Chisel Tip, Black</td> <td>50</td> <td>Integra</td> <td>ITA30011</td> <td>DOZEN</td> <td>\$4.50</td> <td>12</td> <td>\$0.3750</td> <td>\$18.75</td>	32196	Markers	Marker, Permanent, Chisel Tip, Black	50	Integra	ITA30011	DOZEN	\$4.50	12	\$0.3750	\$18.75
32198 Markers Marker, Permanent, Chisel Tip, Red 30 Integra ITA33328 DOZEN \$4.50 12 \$0.3750 \$11.25 32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford </td <td></td>											
32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 32208 Markers Marker, Washable, Conical Tip, Assorted, 12/set 100	32197	Markers	Marker, Permanent, Chisel Tip, Blue	40	Integra	ITA33327	DOZEN	\$4.50	12	\$0.3750	\$15.00
32200 Markers Set, Marker, Permanent, Fine Point, Assorted, 4/set 50 Sanford SAN30174PP 4/SET \$4.00 4 \$1.0000 \$200.00 32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 32208 Markers Marker, Washable, Conical Tip, Assorted, 12/set 100	00400		M I D I OI IT D I	00		IT 4 00000	D075N	04.50	40	#0.0750	044.05
32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 Set, Marker, Washable, Conical Tip, Assorted, 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00	32198	Markers	Marker, Permanent, Chisei Tip, Red	30	integra	11A33328	DOZEN	\$4.50	12	\$0.3750	\$11.25
32201 Markers Set, Marker, Permanent, Fine Point, Assorted, 8/set 60 Sanford SAN30078 8/SET \$6.35 8 \$0.7938 \$381.00 32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 32209 Markers Marker, Washable, Conical Tip, Assorted, 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00	32200	Markers	Set Marker Permanent Fine Point Assorted 4/set	50	Sanford	SAN30174PP	4/SFT	\$4.00	4	\$1,0000	\$200.00
32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 Set, Marker, Washable, Conical Tip, Assorted, 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00	02200	Warters	Oct, Marker, Fermanent, Fine Form, Assorted, 47set	- 00	Gamora	OANOTH I	4/OL1	Ψ4.00		ψ1.0000	Ψ200.00
32202 Markers Marker, Permanent, Fine Point, Black 12/pk 50 Integra ITA30016 DOZEN \$3.95 12 \$0.3292 \$197.50 32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 Set, Marker, Washable, Conical Tip, Assorted, 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00	32201	Markers	Set, Marker, Permanent, Fine Point, Assorted, 8/set	60	Sanford	SAN30078	8/SET	\$6.35	8	\$0.7938	\$381.00
32203 Markers Marker, Permanent, Fine Point, Blue 12/pk 15 Integra ITA30017 DOZEN \$4.00 12 \$0.3333 \$60.00 32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 32209 Markers Marker, Washable, Conical Tip, Assorted, 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00								·			
32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 Set, Marker, Washable, Conical Tip, Assorted, 12/set 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Teleprate ITA30018 DOZEN \$4.00 12 \$1.1667 \$140.00	32202	Markers	Marker, Permanent, Fine Point, Black 12/pk	50	Integra	ITA30016	DOZEN	\$3.95	12	\$0.3292	\$197.50
32206 Markers Marker, Permanent, Fine Point, Red 12/pk 20 Integra ITA30018 DOZEN \$4.00 12 \$0.3333 \$80.00 32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 Set, Marker, Washable, Conical Tip, Assorted, 12/set 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Teleprate ITA30018 DOZEN \$4.00 12 \$1.1667 \$140.00											
32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 Set, Marker, Washable, Conical Tip, Assorted, 32209 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Temperature Temperature Temperature Temperature Temperature Temperature \$4.95 12 \$0.4125 \$495.00	32203	Markers	Marker, Permanent, Fine Point, Blue 12/pk	15	Integra	ITA30017	DOZEN	\$4.00	12	\$0.3333	\$60.00
32208 Markers Marker, Permanent, Metallic Silver 12/pk 10 Sanford SAN39100 DOZEN \$14.00 12 \$1.1667 \$140.00 Set, Marker, Washable, Conical Tip, Assorted, 32209 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Temperature Temperature Temperature Temperature Temperature Temperature \$4.95 12 \$0.4125 \$495.00	00000		M B (5' B 40')	00		IT 4 00040	D075N	04.00	40	# 0.0000	# 00.00
Set, Marker, Washable, Conical Tip, Assorted, 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel,	32206	Markers	Marker, Permanent, Fine Point, Red 12/pk	20	Integra	11A30018	DOZEN	\$4.00	12	\$0.3333	\$80.00
Set, Marker, Washable, Conical Tip, Assorted, 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel,	32208	Markers	Marker Permanent Metallic Silver 12/pk	10	Sanford	SAN39100	DOZEN	\$14.00	12	\$1 1667	\$140.00
32209 Markers 12/set 100 Crayola CYO587812 12/SET \$4.95 12 \$0.4125 \$495.00 Set, Marker, Dry Erase, Bullet Tip, Thick Barrel,	32200	Markers		10	Garilora	0/1100100	DOZEN	Ψ17.00	12	ψ1.1007	ψ170.00
Set, Marker, Dry Erase, Bullet Tip, Thick Barrel,	32209	Markers		100	Crayola	CYO587812	12/SET	\$4.95	12	\$0.4125	\$495.00
32210 Markers Assorted 4/set 90 Sanford SAN82074 4/SET \$6.35 4 \$1.5875 \$571.50											
	32210	Markers	Assorted, 4/set	90	Sanford	SAN82074	4/SET	\$6.35	4	\$1.5875	\$571.50

Office Supplies IFB 23-12-003 Opened December 5, 2023 at 3:00 PM Summary

Contract Effective May 1, 2024 - April 30, 2025

					110	ininer's Office	1 143			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
101117	oursgo.y	Nem Specification	Q didiritiey		7 011001 110111	4/SET (Bullet not				
		Set, Marker, Dry Erase, Bullet Tip, Thick Barrel,				available in 8				
32211	Markers	Assorted, 8/set	60	Sanford	SAN82074	pack)	\$6.35	4	\$1.5875	\$762.00
		Marker, Dry Erase, Chisel Tip, Thick Barrel, Black								
32212	Markers	12/pk	80	Integra	ITA30010	DOZEN	\$8.00	12	\$0.6667	\$640.00
		Marker, Dry Erase, Chisel Tip, Thick Barrel, Blue								
32213	Markers	12/pk	65	Integra	ITA33308	DOZEN	\$8.00	12	\$0.6667	\$520.00
		Marker, Dry Erase, Chisel Tip, Thick Barrel, Green								
32214	Markers	12/pk	60	Integra	ITA33310	DOZEN	\$8.00	12	\$0.6667	\$480.00
		Marker, Dry Erase, Chisel Tip, Thick Barrel, Red								
32215	Markers	12/pk	60	Integra	ITA33309	DOZEN	\$6.00	12	\$0.5000	\$360.00
		Set, Marker, Dry Erase, Low Odor, Chisel Tip, Thick								
32216	Markers	Barrel, Assorted, 12/set	75	Sanford	SAN80699	12/SET	\$13.25	12	\$1.1042	\$993.75
		Set, Marker, Dry Erase, Low Odor, Chisel Tip, Thick								
32217	Markers	Barrel, Assorted, 4/set	90	Integra	ITA30015	4/SET	\$2.00	4	\$0.5000	\$180.00
		Set, Marker, Dry Erase, Low Odor, Fine Tip, Thick								
32218	Markers	Barrel, Assorted, 8/set	40	Sanford	SAN86601	8/SET	\$12.00	8	\$1.5000	\$480.00
32219	Markers	Set, Marker, Wet Erase, Fine Point, Assorted, 4/set	5	Sanford	SAN2134341	4/SET	\$6.00	4	\$1.5000	\$30.00
32220	Markers	Set, Marker, Wet Erase, Fine Point, Assorted, 8/set	5	Sanford	SAN2134345	8/SET	\$12.00	8	\$1.5000	\$60.00
32221	Markers	Marker, Wet Erase, Fine Point, Black 12/pk	6	Sanford	SAN16001	DOZEN	\$15.00	12	\$1.2500	\$90.00
		Marker, Dry Erase, Low Odor, Bullet Tip, Thick								
32371	Markers	Barrel, Black 12/pk	10	Sanford	SAN82001	DOZEN	\$13.00	12	\$1.0833	\$130.00
						· · · · · · · · · · · · · · · ·				
		M				DOZEN (Chisel)				
00070		Marker, Dry Erase, Low Odor, Bullet Tip, Thick	_	0 ()	0.4.100000	Bullet unavailable		40	#4.0000	405.00
32372	Markers	Barrel, Red 12/pk	5	Sanford	SAN80002	in Red	\$13.00	12	\$1.0833	\$65.00
00070	Manlaana	Marker, Dry Erase, Low Odor, Bullet Tip, Thick	_	0	CANICOCC	DOZEN.	#47.00	40	04.4407	005.00
32373	Markers	Barrel, Blue 12/pk	5	Sanford	SAN82003	DOZEN	\$17.00	12	\$1.4167	\$85.00
						DOZEN (Chisel)				
		Marken Dry Frees Ley Oden Bullet Tim Thick								
32374	Markers	Marker, Dry Erase, Low Odor, Bullet Tip, Thick Barrel, Green 12/pl	5	Sanford	SAN80004	Bullet unavailable		12_	¢1 0022	\$65.00
32314	iviaiKers	barrer, Green 12/pi	<u> </u>	Samoro	SANSUUU4	in Green	\$13.00	12	\$1.0833	\$65.00
32393	Markers	Sat Marker Flip Chart Asserted 9/Sat	12	Sanford	SAN22480PP	8/PKG	\$8.00	8	\$1.0000	\$96.00
32393	IVIAIKEIS	Set, Marker, Flip Chart, Assorted 8/Set Marker, Wet Erase, Bullet tip, Brightsticks	12	Samoru	SANZZ40UPP	0/PNG	\$0.00	0	\$1.0000	φ90.00
32395	Markers	Fluorescent, Assorted, 5/set	5	Sanford	SAN14075	5/SET	\$22.00	5	\$4.4000	\$110.00
32393	IVIAI NEI S	Book, Phone Message, Spiral Bound, 2-Part	5	Salliulu	3AN 14073	3/3E1	φ Ζ Ζ.00	- 5	φ4.4000	φ110.00
32223	Message Books	Messages/Book	5	Tops	TOP4003	EACH	\$5.00	1	\$5.0000	\$25.00
32223	wiessaye DOOKS	IVIESSAYES/DUUK	j j	Τυμδ	1014003	EACH	φ5.00		φ5.0000	φ23.00
32226	Miscellaneous	Bookend, Heavy Gauge Steel, 9", Black, Pair	20	Business Source	BSN42551	PAIR	\$2.00	1	\$2.0000	\$40.00
JZZZU	wiscellal lecus	Doonond, Heavy Gauge Gleel, 9, Dlack, Fall	20	Dusiness Cource	DOINAZOOT	I All V	Ψ2.00		Ψ2.0000	ψ+0.00

					Hur	nmel's Office	Plus			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
32227	Miscellaneous	Box, Storage, Letter, Stacking Strength 500, 10" x 12" x 24" 12/pk	25	Fellowes	FEL00704	12/CARTON	\$85.00	12	\$7.0833	\$2,125.00
32229	Miscellaneous	Tissue, Facial, 2-Ply 100/bx, 30bx/cs	210	Marcal	MRC2930	100/BOX	\$0.77	100	\$0.0077	\$4,851.00
32231	Miscellaneous	Pad, Wrist Rest, Computer, Rubber Backed	8	Innovera	IVR50457	EACH	\$5.00	1	\$5.0000	\$40.00
32359	Miscellaneous	Tape, Labeler, for Brother TZ Series, 1/2", Black on White	3	Brother	BRTTZE231	EACH	\$12.00	1	\$12.0000	\$36.00
32364	Miscellaneous	Remover, Adhesive, Acid Free, Removes Sticker, Tape and Labels, Non-Damaging and Non-Staining to Most Surfaces, 32 oz	4	Weiman	WMN2112	EACH	\$11.00	1	\$11.0000	\$44.00
32365	Miscellaneous	Pad, Wrist Rest, Computer Keyboard, Gel	8	Fellowes	FEL91737	EACH	\$14.00	1	\$14.0000	\$112.00
32385	Miscellaneous	Box, Storage, Letter, Stacking Strength 750, 10" x 12" x 24" 12/cs	9	Business Source	BSN26756	12/CARTON	\$57.00	12	\$4.7500	\$513.00
32388	Miscellaneous	Sharpener, Pencil, Black,with safety switch	15	Bostitch	BOSEPS8HDBLK	EACH	\$17.50	1	\$17.5000	\$262.50
32389	Miscellaneous	Pad, dispenser for 3" x 3" notes	15	MMM	MMMWD330BK	EACH	\$6.00	1	\$6.0000	\$90.00
32397	Miscellaneous	Finger Tips, size 12, medium/large 12/box	28	Swingline	SWI54032	DOZEN	\$2.00	12	\$0.1667	\$56.00
32410	Miscellaneous	Fingertip Moistener, 1.75 oz, 2 pk	10	Lee	LEE10132	PK	\$3.50	2	\$1.7500	\$35.00
32232	Pads/Paper	Pad, Easel, Unruled, 18 lb Paper, 27" x 34", 2/pk	20	Business Source	BSN36585	2/CARTON	\$27.00	2	\$13.5000	\$540.00
32233	Pads/Paper	Pad, Easel, Self-Stick, Unruled, 25" x 30", 2/pk	40	Business Source	BSN38591	2/CARTON	\$27.00	2	\$13.5000	\$1,080.00
32280	Pads/Paper	Pad, Self Stick, Unruled, 1-1/2" x 2", Canary Yellow 24/pk	20	Business Source	BSN36610	DOZEN	\$1.25	12	\$0.1042	\$4.17
32281	Pads/Paper	Pad, Self Stick, Unruled, 3" x 3", Canary Yellow 18/pk	140	Business Source	BSN36616	24/PKG	\$4.80	24	\$0.2000	\$504.00
32282	Pads/Paper	Pad, Self Stick, Unruled, 3" x 5", Canary Yellow 24/pk	70	Business Source	BSN36613	DOZEN	\$4.90	12	\$0.4083	\$686.00
32283	Pads/Paper	Pad, Self Stick, Ruled, 3" x 3", Canary Yellow 6/pk	102	MMM	MMM6306PK	6/PKG	\$6.00	6	\$1.0000	\$612.00
32284	Pads/Paper	Pad, Self Stick, Ruled, 3" x 5", Canary Yellow 12/pk	60	MMM	MMM635YW	DOZEN	\$21.00	12	\$1.7500	\$1,260.00
32285	Pads/Paper	Pad, Self Stick, Ruled, 4" x 6", Canary Yellow 5/pk	60	Business Source	BSN36618	DOZEN	\$5.00	12	\$0.4167	\$125.00
32286	Pads/Paper	Pad, Self Stick, Pop Up, Unruled, 3" x 3", Canary Yellow 12/pk	40	Business Source	BSN16454	DOZEN	\$3.00	12	\$0.2500	\$120.00
32287	Pads/Paper	Pad, Self Stick, Pop Up, Unruled, 3" x 3", Canary Yellow 12/pk	35	Business Source	BSN16454	DOZEN	\$3.00	12	\$0.2500	\$105.00

Office Supplies IFB 23-12-003 Opened December 5, 2023 at 3:00 PM Summary

Contract Effective May 1, 2024 - April 30, 2025

					Hur	nmel's Office	Pius			
			O 111			D 1 0	D : D: I			
Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
20000	D - d - /D	Pad, Self Stick, Pop Up, Ruled, 3" x 3", Canary	00	NANANA	NANADOOENAA	C/DICO	#7.00	0	04.4007	#440.00
32288	Pads/Paper	Yellow 6/pk Pad, Self Stick, Pop Up, Super Sticky, Unruled, 3" x	20	MMM	MMMR335YW	6/PKG	\$7.00	6	\$1.1667	\$140.00
32289	Dada/Danas		20	NANANA	MMMD22042CCCV	DOZEN	¢40.00	40	£4.0000	#040.00
32289	Pads/Paper	3", Canary Yellow 12/pk	20	MMM	MMMR33012SSCY	DOZEN	\$12.00	12	\$1.0000	\$240.00
20000	D - d - /D	Pad, Self Stick, Super Sticky, Unruled, 2" x 2",	00	NANA	MMM00040000V	40/DKO	AF 50	40	\$0.5500	# 405.00
32290	Pads/Paper	Canary Yellow 10/pk	30	MMM	MMM62210SSCY	10/PKG	\$5.50	10	\$0.5500	\$165.00
00000	D 1 /D	Pad, Self Stick, Super Sticky, Unruled, 3" x 5",	0.5		MMM05540000V	DOZEN	# 00.00	40	04.0007	# 500.00
32293	Pads/Paper	Canary Yellow 12/pk	25	MMM	MMM65512SSCY	DOZEN	\$20.00	12	\$1.6667	\$500.00
00004	D 1 /D	Pad, Self Stick, Super Sticky, Ruled, 4" x 4", Canary	00			D07511	***	40	* 0.400 7	4500.00
32294	Pads/Paper	Yellow 12/pk	20	MMM	MMM67512SSCP	DOZEN	\$26.00	12	\$2.1667	\$520.00
		Pad, Self Stick, Super Sticky, Ruled, 4" x 6", Canary								
32295	Pads/Paper	Yellow 5/pk	20	MMM	MMM6605SSCY	5/PKG	\$10.00	5	\$2.0000	\$200.00
		Pad, Steno, Wire Bound, Gregg Ruled, Center Line,								
32331	Pads/Paper	6" x 9", Green	70	Business Source	BSN90650	EACH	\$1.50	1	\$1.5000	\$105.00
32333	Pads/Paper	Pad, Writing, 15# Paper, 5" x 8", White 12/pk	15	Business Source	BSN63110	DOZEN	\$7.95	12	\$0.6625	\$119.25
		Pad, Writing, Glue Top, 15# Paper, 8-1/2" x 11",								
32334	Pads/Paper	White 12/pk	90	Business Source	BSN63108	DOZEN	\$11.00	12	\$0.9167	\$990.00
		Pad, Writing, Glue Top, 15# Paper, 8-1/2" x 11",								
32335	Pads/Paper	Yellow 12/pk	30	Business Source	BSN63105	DOZEN	\$11.00	12	\$0.9167	\$330.00
		Pad, Writing, Wide Ruled, 15# Paper, Perforated, 8-								
32336	Pads/Paper	1/2" x 11", White 12/pk	45	Business Source	BSN63108	DOZEN	\$11.00	12	\$0.9167	\$495.00
		Full stick notes, 3" x 3" Rio De Janeiro Collections,								
32404	Pads/Paper	asst colors, 12 pads/pk	25	MMM	MMM65412SSUC	DOZEN	\$19.00	12	\$1.5833	\$475.00
		Pencil Leads, Mechanical, .5mm, HB Softness								
32234	Pens/Pencils	12/pk	20	Integra	ITA38014	12/TUBE	\$0.65	12	\$0.0542	\$13.00
32235	Pens/Pencils	Pencil, #2 12/pk	240	Business Source	BSN37507	DOZEN	\$1.58	12	\$0.1317	\$379.20
32236	Pens/Pencils	Set, Pencil, Colored, 3.3mm Lead, Assorted, 24/set	50	Crayola	CYO684024	24/SET	\$3.55	24	\$0.1479	\$177.50
32237	Pens/Pencils	Pencil, Mechanical, .5mm 12/pk	30	Integra	ITA36152	DOZEN	\$3.00	12	\$0.2500	\$90.00
		Pen, Ballpoint, Cushioned Grip, Medium Tip, Black								
32238	Pens/Pencils	12/pk	30	BIC	BICGSMG11BK	DOZEN	\$1.95	12	\$0.1625	\$58.50
		Pen, Ballpoint, Cushioned Grip, Medium Tip, Blue								
32239	Pens/Pencils	12/pk	50	BIC	BICSGSM11BE	DOZEN	\$1.95	12	\$0.1625	\$97.50
		Pen, Ballpoint, Cushioned Grip, Medium Tip, Red								
32240	Pens/Pencils	12/pk	25	BIC	BICGSMG11RD	DOZEN	\$1.95	12	\$0.1625	\$48.75
		,								
32241	Pens/Pencils	Pen, Ballpoint, Fine Point, Black 12/pk	20	Pentel	PENBK90A	DOZEN	\$5.00	12	\$0.4167	\$100.00
		, , , , , , , , , , , , , , , , , , , ,								, , , , , ,
32242	Pens/Pencils	Pen, Ballpoint, Fine Point, Blue 12/pk	25	Pentel	PENBK90C	DOZEN	\$5.00	12	\$0.4167	\$125.00
		,,,,,,					73.00		7	Ţ3.00
32243	Pens/Pencils	Pen, Ballpoint, Fine Point, Red 12/pk	20	Pentel	PENBK90B	DOZEN	\$5.00	12	\$0.4167	\$100.00
		,,,,,		. 5			71.00		Ţ	7 . 3 3 . 0 0

					Hu	mmel's Office	Plus			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
32244	Pens/Pencils	Pen, Ballpoint, Medium Point, Black 12/pk	90	Pentel	PENBK91A	DOZEN	\$5.50	12	\$0.4583	\$495.00
32245	Pens/Pencils	Pen, Ballpoint, Medium Point, Blue 12/pk	75	Pentel	PENBK91C	DOZEN	\$5.50	12	\$0.4583	\$412.50
32246	Pens/Pencils	Pen, Ballpoint, Medium Point, Red 12/pk	25	Pentel	PENBK91B	DOZEN	\$5.50	12	\$0.4583	\$137.50
32247	Pens/Pencils	Pen, Ballpoint, Medium Tip, Black 12/pk	45	Business Source	BSN37501	DOZEN	\$1.00	12	\$0.0833	\$45.00
32248	Pens/Pencils	Pen, Ballpoint, Medium Tip, Blue 12/pk	20	Business Source	BSN37500	DOZEN	\$1.00	12	\$0.0833	\$20.00
32249	Pens/Pencils	Pen, Ballpoint, Medium Tip, Red 12/pk	10	Business Source	BSN37504	DOZEN	\$1.00	12	\$0.0833	\$10.00
32250	Pens/Pencils	Pen, Double Ended, Wood Cased, Black/Red 12/pk	5	Moon	MPDP89	DOZEN	\$6.45	12	\$0.5375	\$32.25
32251	Pens/Pencils	Pen, Double Ended, Wood Cased, Blue/Red 12/pk	5	Moon	MPDP80	DOZEN	\$6.45	12	\$0.5375	\$32.25
32252	Pens/Pencils	Pen, Felt Tip, Fine Point, Black 12/pk	25	Universal	UNV50502	DOZEN	\$5.50	12	\$0.4583	\$137.50
32253	Pens/Pencils	Pen, Felt Tip, Fine Point, Blue 12/pk	20	Universal	UNV50501	DOZEN	\$5.50	12	\$0.4583	\$110.00
32254	Pens/Pencils	Pen, Felt Tip, Fine Point, Green 12/pk	15	Papermate	PAP8440152	DOZEN	\$13.00	12	\$1.0833	\$195.00
32255	Pens/Pencils	Pen, Felt Tip, Fine Point, Purple 12/pk	15	Papermate	PAP8450152	DOZEN	\$16.00	12	\$1.3333	\$240.00
32256	Pens/Pencils	Pen, Felt Tip, Fine Point, Red 12/pk	20	Universal	UNV50503	DOZEN	\$7.00	12	\$0.5833	\$140.00
32257	Pens/Pencils	Pen, Rollerball, Fine Tip, Black 12/pk	50	Uniball	UBC60101	DOZEN	\$12.00	12	\$1.0000	\$600.00
32258	Pens/Pencils	Pen, Rollerball, Fine Tip, Blue 12/pk	30	Uniball	UBC60103	DOZEN	\$12.00	12	\$1.0000	\$360.00
32259	Pens/Pencils	Pen, Rollerball, Fine Tip, Red 12/pk	10	Uniball	UBC60144	DOZEN	\$7.00	12	\$0.5833	\$70.00
32405	Pens/Pencils	Pen, Rollerball, Retractable, Jetstream RT, Bold, Black 12/pk	8	Uniball	UBC73832	DOZEN	\$35.00	12	\$2.9167	\$280.00
32406	Pens/Pencils	Pen, Rollerball, Retractable, Jetstream RT, Bold, Blue 12/pk	7	Uniball	UBC73833	DOZEN	\$35.00	12	\$2.9167	\$245.00
32260	Pins/Tacks	Pin, Push, Plastic, Assorted, 100/pk	30	Business Source	BSN81001	100/BOX	\$0.79	100	\$0.0079	\$23.70
32261	Pins/Tacks	Pin, Push, Plastic, Clear, 100/pk	20	Business Source	BSN81002	100/BOX	\$1.19	100	\$0.0119	\$23.80
32262	Pins/Tacks	Tack, Thumb, Highly Polished Steel, 7/16", 100/pk	20	OIC	OIC92913	100/BOX	\$0.65	100	\$0.0065	\$13.00
32263	Punches	Punch, 1-Hole, Chrome, Handspring, With Clippings Recepticle	7	Business Source	BSN62895	EACH	\$1.90	1	\$1.9000	\$13.30

					Hu	mmel's Office	Plus			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
32264	Punches	Punch, 3-Hole, Economy, 10 Sheet Capacity, 9/32" Diameter Holes	40	Business Source	BSN65645	EACH	\$5.00	1	\$5.0000	\$200.00
32265	Punches	Reinforcement, Self Adhesive, White, 200/pk	40	Avery	AVE05729	200/PKG	\$1.50	200	\$0.0075	\$60.00
32343	Punches	Punch, 3-Hole, Electric, Commercial, 28 Sheet Capacity	15	Business Source	BSN62901	EACH	\$105.00	1	\$105.0000	\$1,575.00
32268	Rubber Bands	Rubber Band, Assorted 1#	20	Business Source	BSN15745	1 # PKG	\$4.50	1	\$4.5000	\$90.00
32269	Rubber Bands	Rubber Band, 117B, 7" x 1/8" 12/pk	20	Alliance	ALL00700	DOZEN	\$1.50	12	\$0.1250	\$30.00
32270	Rubber Bands	Rubber Band, 19, 1/16" x 3-1/2" 1#	10	Business Source	BSN15737	1 # PKG	\$3.50	1	\$3.5000	\$35.00
32271	Rubber Bands	Rubber Band, 33, 3-1/2" x 1/8" 1#	25	Business Source	BSN15743	1 # PKG	\$4.50	1	\$4.5000	\$112.50
32272	Rubber Bands	Rubber Band, 64, 1/4" x 3-1/2" 1#	20	Business Source	BSN15748	1 # PKG	\$3.50	1	\$3.5000	\$70.00
32273	Rulers	Ruler, Wood, Metal Edge, 12"	50	Universal	UNV59021	EACH	\$1.25	1	\$1.2500	\$62.50
32274	Rulers	Ruler, Wood, Metal Edge, 15"	15	Acme	ACM05225	EACH	\$1.50	1	\$1.5000	\$22.50
32276	Scissors	Scissor, Straight, Stainless Steel, 7"	14	SPARCO	SPR25225	EACH	\$0.89	1	\$0.8900	\$12.46
32277	Scissors	Scissor, Straight, Softgrip Handle, 8"	83	SPARCO	SPR25226	EACH	\$2.00	1	\$2.0000	\$166.00
32278	Scissors	Scissor, Straight, Stainless Steel Blades, 8"	14	Business Source	BSN65647	EACH	\$0.89	1	\$0.8900	\$12.46
32298	Stamps	Pad, Stamp, Foam Rubber, #1, 2-3/4" x 4-1/4", Black	18	Avery	AVE21081	EACH	\$2.50	1	\$2.5000	\$45.00
32299	Stamps	Pad, Stamp, Foam Rubber, #1, 2-3/4" x 4-1/4", Red	20	Avery	AVE21071	EACH	\$2.50	1	\$2.5000	\$50.00
32300	Staples/Staplers	Remover, Staple, Claw Type	34	Business Source	BSN65650	EACH	\$0.10	1	\$0.1000	\$3.40
32301	Staples/Staplers	Stapler, Economy	75	Business Source	BSN65648	EACH	\$2.95	1	\$2.9500	\$221.25
32302	Staples/Staplers	Stapler, Electric, Anti-Jam Feature, 20 Sheet Capacity	24	Swingline	SWI42132	EACH	\$29.00	1	\$29.0000	\$696.00
32303	Staples/Staplers	Staple, Cartridge, 5000/pk	25	Swingline	SWI50050	5000/PKG	\$15.00	5000	\$0.0030	\$375.00
32304	Staples/Staplers	Staple, Heavy Duty, 1/2", 1000/pk	7	Swingline	SWI35312	1000/PKG	\$6.00	1000	\$0.0060	\$42.00
32305	Staples/Staplers	Staple, Heavy Duty, 1/4", 1000/pk	7	Swingline	SWI35314	1000/PKG	\$6.50	1000	\$0.0065	\$45.50
32307	Staples/Staplers	Staple, Standard, 5000/pk	150	Business Source	BSN65649	5000/PKG	\$0.89	5000	\$0.0002	\$133.50

					Hu	mmel's Office	Pius			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
32361	Staples/Staplers	Stapler, Electric, 30 Sheet Capacity	20	Swingline	SWI69008	EACH	\$175.00	1	\$175.0000	\$3,500.00
32308	Tape	Dispenser, Tape, For Desk, Holds 1" Core, Black, non skid base	32	Business Source	BSN32954	EACH	\$1.50	1	\$1.5000	\$48.00
02000	Таро	Hori ona baco	- 02	Buoinese Course	201102001	271011	Ψ1.00		Ψ1.0000	ψ 10.00
32310	Tape	Core, Tape Dispenser, Replacement, 1"	30	MMM	MMM1CORE	EACH	\$0.65	1	\$0.6500	\$19.50
32311	Tape	Tape, Book Repair, 3" Core, 2" x 540"	14	MMM	MMM8452	ROLL	\$5.00	1	\$5.0000	\$70.00
32312	Tape	Tape, Book Repair, 3" Core, 3" x 540"	14	3M	MMM8453	ROLL	\$7.00	1	\$7.0000	\$98.00
32313	Tape	Tape, Box, Clear, 3" Core, 2" x 2160"	44	DUC	DUC07567RL	ROLL	\$2.00	1	\$2.0000	\$88.00
32314	Tape	Tape, Correction, 1 Line, 1/6" x 700"	9	МММ	MMM651	ROLL	\$3.00	1	\$3.0000	\$27.00
32315	Таре	Tape, Correction, 2 Line, 1/3" x 700"	6	MMM	MMM652	ROLL	\$3.50	1	\$3.5000	\$21.00
32317	Tape	Tape, Correction, Grip Dispenser, 1/5" x 355", 2/pk	25	Integra	ITA60238	2/PKG	\$2.50	2	\$1.2500	\$62.50
32318	Tape	Tape, Masking, 3" Core, 1" x 2160" 12/pk	55	Business Source	BSN16461	ROLL	\$1.70	1	\$1.7000	\$1,122.00
32319	Tape	Tape, Masking, 3" Core, 2" x 2160" 12/pk	18	Business Source	BSN16462	ROLL	\$2.75	1	\$2.7500	\$594.00
32320	Tape	Tape, Masking, 3" Core, 3/4" x 2160" 12/pk	13	Business Source	BSN16460	ROLL	\$1.00	1	\$1.0000	\$156.00
32321	Tape	Tape, Packaging, Premium Heavy-Duty, Clear, At Least 3.0 Mil, 2" x 54.6 Yards, 3" core 6/pk	55	Business Source	BSN32956	6/PKG (1.88"x54.6 yrds)	\$18.00	6	\$3.0000	\$990.00
32322	Tape	Tape, Refill, Clear, Glossy Finish, 1" Core, 1/2" x 1296"	117	MMM	MMM5910121296	ROLL	\$0.65	1	\$0.6500	\$76.05
32323	Tape	Tape, Refill, Clear, Glossy Finish, 1" Core, 3/4" x 1296"	81	Business Source	BSN32949	ROLL	\$0.75	1	\$0.7500	\$60.75
32324	Tape	Tape, Refill, Invisible, Can Be Written On, 1" Core, 1/2" x 1296"	60	Business Source	BSN43571	ROLL	\$0.65	1	\$0.6500	\$39.00
32325	Tape	Tape, Refill, Invisible, Can Be Written On, 1" Core, 3/4" x 1296"	80	Business Source	BSN32952	ROLL	\$0.85	1	\$0.8500	\$68.00
32396	Tape	Tape, Magnetic Adhesive Tape Roll, 1" H x 50' L	13	Master Vision	BVCFM2021	EACH	\$58.00	1	\$58.0000	\$754.00
32402	Tape	Tape, Packaging Tape Hand Dispenser, refillable, for 3" core tapes	10	MMM	MMMDP300RD	EACH	\$14.00	1	\$14.0000	\$140.00
32327	Whiteboard	Cleaner, Whiteboard, Pump Spray, 16 oz	43	Quartet	QRT550	EACH 17oz	\$15.00	17	\$0.8824	\$607.06
32328	Whiteboard	Cleaner, Whiteboard, Pump Spray, 8 oz	31	Genuine Joe	GJO75626	EACH	\$3.00	8	\$0.3750	\$93.00
32329	Whiteboard	Eraser, Whiteboard, Soft Pile Felt	84	Charles Leonard	LEO74500	EACH	\$1.25	1	\$1.2500	\$105.00

Hummel's Office Plus

Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
32330	Whiteboard	Towelette, Dry Erase, Pre-Moistened, 50/pk	15	Genuine Joe	GJO75627	EACH	\$5.50	1	\$5.5000	\$82.50
32375	Whiteboard	Eraser, Whiteboard, Magnetic, Soft Pile Felt	20	Lorell	LLR74530	EACH	\$1.85	1	\$1.8500	\$37.00

\$87,207.86

					Casca	de Schoo	l Supplies	;		
						Package				
Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
31000	Batteries	Battery, Rechargable, AA, 4/pk	30						\$3.4375	\$412.50
31001	Batteries	Battery, Rechargable, AAA, 4/pk	30						\$3.4375	\$412.50
31002	Batteries	Battery, Rechargable, C, 2/pk	6						\$6.8750	\$82.50
31003	Batteries	Battery, Rechargable, D, 2/pk	10						\$6.8750	\$137.50
31004	Batteries	Charger, for Rechargable Batteries, Must Accept AA, AAA, C, D Sizes & All Brands, Each	7						\$32.0000	\$224.00
31005	Batteries	Charger, for Rechargable 9-Volt Batteries, Must Accept All Brands, Each	2						\$32.0000	\$64.00
31006	Batteries	Battery, Lantern, 6-Volt, Each	4						\$14.0000	\$56.00
32000	Binders	Binder, 3-Ring, Economy, With Pockets, 1" Rings, 8-1/2" x 11", Black	65	Avery Products	33152	each	\$3.98	1	\$3.9800	\$258.70
32001	Binders	Binder, 3-Ring, Economy, With Pockets, 1" Rings, 8-1/2" x 11", Blue	70	Avery Products	33150	each	\$3.06	1	\$3.0600	\$214.20
32002	Binders	Binder, 3-Ring, Economy, With Pockets, 1" Rings, 8-1/2" x 11", Red/Burgundy	35	Cascade	11892	each	\$1.05	1	\$1.0500	\$36.75
32003	Binders	Binder, 3-Ring, Economy, With Pockets, 1-1/2" Rings, 8-1/2" x 11", Black	30	Cascade	5470	each	\$1.22	1	\$1.2200	\$36.60
32004	Binders	Binder, 3-Ring, Economy, With Pockets, 1-1/2" Rings, 8-1/2" x 11", Blue	20	Avery Products	33221	each	\$4.00	1	\$4.0000	\$80.00
32005	Binders	Binder, 3-Ring, Economy, With Pockets, 1-1/2" Rings, 8-1/2" x 11", Red/Burgundy	25	,					\$3.1500	\$78.75
32006	Binders	Binder, 3-Ring, Economy, With Pockets, 2" Rings, 8-1/2" x 11", Black	45	Avery Products	28343	each	\$3.93	1	\$3.9300	\$176.85
32007	Binders	Binder, 3-Ring, Economy, With Pockets, 2" Rings, 8-1/2" x 11", Blue	20	Cascade	149918	each	\$1.75	1	\$1.7500	\$35.00
32008	Binders	Binder, 3-Ring, Economy, With Pockets, 2" Rings, 8-1/2" x 11", Red/Burgundy	22	Cascade	5758	each	\$1.75	1	\$1.7500	\$38.50
32009	Binders	Binder, 3-Ring, Economy, With Pockets, 3" Rings, 8-1/2" x 11". Black	55	Avery Products	28348	each	\$7.74	<u>.</u> 1	\$7.7400	\$425.70
		Binder, 3-Ring, Economy, With Pockets, 3" Rings, 8-		•			-	1	·	
32010	Binders	1/2" x 11", Blue Binder, 3-Ring, Economy, With Pockets, 3" Rings, 8-	20	Avery Products	28350	each	\$5.67	1	\$5.6700	\$113.40
32011	Binders	1/2" x 11", Red/Burgundy Binder, 3-Ring, View, With Pockets, 1" Rings, Clear	20	Cascade	151461	each	\$2.38	1	\$2.3800	\$47.60
32012	Binders	Overlay, 8-1/2" x 11", White	100	Cascade	170371	each	\$2.04	1	\$2.0400	\$204.00

					Casca		o Supplies	•		
						Package				
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
		Binder, 3-Ring, View, With Pockets, 1-1/2" Rings,								
32013	Binders	Clear Overlay, 8-1/2" x 11", White	55	Cascade	15797	each	\$1.36	11	\$1.3600	\$74.80
		Binder, 3-Ring, View, With Pockets, 2" Rings, Clear								
32014	Binders	Overlay, 8-1/2" x 11", White	75	Avery Products	28335	each	\$7.14	11	\$7.1400	\$535.50
		Binder, 3-Ring, View, With Pockets, 3" Rings, with								
32015	Binders	Clear Overlay, 8-1/2" x 11", White	50	Cascade	14457	each	\$2.58	1	\$2.5800	\$129.00
		Data Binder, expandable, 8 1/2 x 11 with 6"								
32016	Binders	expansion, Red	10						\$14.9900	\$149.90
		Set, Tab Divider, A-Z, Table of Contents, 8-1/2" x								
32017	Binders	11", Multicolor	100	Avery Products	24708	26/pkg	\$4.68	11	\$4.6800	\$468.00
		Set, Tab Dividers, Insertable Reference, Copper								
32018	Binders	Reinforced, 8-1/2" x 11", Multicolor	150	Cascade	121245	5/pkg	\$0.34	11	\$0.3400	\$51.00
		Protector, Sheet, Non-Glare, Clear, 3.0 Mil, Vinyl,								
32019	Binders	Top Loaded, 3 Hole Punched, 8-1/2" x 11"	50	Cascade	22943	100/box	\$2.84	100	\$0.0284	\$142.00
		Protector, Sheet, Non-Glare Vinyl, Top Loaded, 3								
32020	Binders	Hole Punched, 8-1/2" x 11"	50	Cascade	22944	50/box	\$5.25	50	\$0.1050	\$262.50
32021	Binders	Binder, 3-Ring, Economy, 5" Rings, 8-1/2" x 11"	10						\$8.5900	\$85.90
		Protector, Sheet, Clear, Non-Stick, Medium Weight,								
32380	Binders	2.4 Mil, Top Loaded, 3 Hole Punched, 8-1/2" x 11"	40	Cascade	22942	each	\$2.84	100	\$0.0284	\$227.20
		Binder, D-Ring, View, With Pockets, 1" Rings, Clear								
32399	Binders	Overlay, 8-1/2" x 11", White	20	Cascade	30144	each	\$8.88	11	\$8.8800	\$177.60
		Binder, D-Ring, View, With Pockets, 1-1/2" Rings,								
32400	Binders	Clear Overlay, 8-1/2" x 11", White	10						\$2.9900	\$29.90
		Binder, D-Ring, View, With Pockets, 2" Rings, Clear								
32401	Binders	Overlay, 8-1/2" x 11", White	10	Cascade	30145	each	\$11.82	1	\$11.8200	\$118.20
		Calculator, 12-Digit, Dual Power, Desktop, Large								
32023	Calculators	Display	50	Cascade	38366	each	\$6.66	1	\$6.6600	\$333.00
32025	Calculators	Paper, Roll, Red Warning Signal, 2-1/4" x 150'	110	Cascade	120108	each	\$0.68	1	\$0.6800	\$74.80
32026	Calendars	Base, Calendar, Desk, Daily, 4-1/2" x 8", Black	10						\$8.0000	\$80.00
		Calendar, 16-Month, Desk/Wall, Sept. Through		Roaring Springs/At A						
32027	Calendars		215	Glance	120088	each	\$3.49	1	\$3.4900	\$750.35
		Calendar, Desk, Daily, 12-Month, 1/2 Hour								
32028	Calendars	Appoint., 2 Pages/Weekday, 4-1/2" x 8"	15						\$10.0000	\$150.00
		Calendar, Wall, School Events, Current School								
32344	Calendars	Year, 80# Paper, 24-1/2" x 38"	45						\$2.6000	\$117.00
		Calendar, Hardcover Monthly Planner, Julian,								
		Monthly 1 year, January til December 6 7/8 x 8 3/4								
32392	Calendars	wire bound, black, non refillable	10						\$12.0000	\$120.00
		Dec. Of Following Year, 17" x 22" Calendar, Desk, Daily, 12-Month, 1/2 Hour Appoint., 2 Pages/Weekday, 4-1/2" x 8" Calendar, Wall, School Events, Current School Year, 80# Paper, 24-1/2" x 38" Calendar, Hardcover Monthly Planner, Julian,		Glance	120088	each	\$3.49	1	,	\$150

			Cascade School Supplies							
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
		Calendar, 13 month planner, recycled with flexible								
32398	Calendars	cover, wire bound, one month per two pages, non refillable, 9" x 11"	30	House Of Doolittle	120092	each	\$6.50	1	\$6.5000	\$195.00
		Calendar, Monthly Planner, Julian, 1 Year, January					,		,	,
32403	Calendars	to December, 6 7/8 x 8 3/4 wire bound, black, non refillable, non hardcover	10						\$10.0000	\$100.00
		,							Ψ10.0000	
32409	Calendars	Desk Calendar Refill, 3.5 x 6	5	Rediform	120081	each	\$2.18	11	\$2.1800	\$10.90
32029	Clips/Clipboards	Clipboard, 6" Steel Spring Clip, Hard Board, 9" x 12"	90	Cascade	120840	each	\$1.14	1	\$1.1400	\$102.60
				-			,			•
32030	Clips/Clipboards	Clip, Binder, 1" paper capacity, 2" width, Black	90	Cascade	109451	12/pkg	\$1.67	12	\$0.1392	\$150.30
32031	Clips/Clipboards	Clip, Binder, 1/4" paper capacity, 1/2" width, Black	95	Cascade	28861	12/pkg	\$0.27	12	\$0.0225	\$25.65
32032	Clips/Clipboards	Clip, Binder, 5/16" paper capacity, 3/4" width, Black	75	Cascade	109449	12/pkg	\$0.27	12	\$0.0225	\$20.25
22022	Clina/Clinhaarda	Clin Dinder E/O'haner consity 4 4/4" wide Block	75	Casaada	100450	10/ples		10	¢0.0567	¢ E4 00
32033	Clips/Clipboards	Clip, Binder, 5/8"paper capaity, 1 1/4" wide, Black	75	Cascade	109450	12/pkg	\$0.68	12	\$0.0567	\$51.00
32034	Clips/Clipboards	Clip, Butterfly, Large 12/pk	60	Cascade	119016	12/pkg	\$0.75	12	\$0.0625	\$45.00
32035	Clips/Clipboards	Clip, Butterfly, Medium 50/pk	90	Cascade	119017	50/pkg	\$1.22	50	\$0.0244	\$109.80
32036	Clips/Clipboards	Clip, Paper, Non-Skid, Large 100/pk	110	Cascade	119004	100/pkg	\$0.61	100	\$0.0061	\$67.10
32037	Clips/Clipboards	Clip, Paper, Non-Skid, Regular 100/pk	100	Cascade	119000	100/pkg	\$0.23	100	\$0.0023	\$23.00
32038	Clips/Clipboards	Clip, Paper, Smooth Finish, Large 100/pk	200	Cascade	191193	100/pkg	\$0.58	100	\$0.0058	\$116.00
									•	·
32039	Clips/Clipboards	Clip, Paper, Smooth Finish, Regular 100/pk	115	Cascade	118996	100/pkg	\$0.22	100	\$0.0022	\$25.30
32040	Clips/Clipboards	Clip, Paper, Vinyl Coated, Large, Assorted 200/pk	30	Cascade	118965	200/pkg	\$1.32	200	\$0.0066	\$39.60
32041	Clips/Clipboards	Clip, Paper, Vinyl Coated, Regular, Assorted 500/pk	30	Cascade	118964	500/pkg	\$1.10	500	\$0.0022	\$33.00
32042	Clips/Clipboards	Dispenser, Paper Clip, Magnetic, Jumbo	6						\$1.5900	\$9.54
32312		spec.se., . ape. enp, magnetic, cambo	-						75000	70.01
32043	Clips/Clipboards	Dispenser, Paper Clip, Magnetic, Small	5	Cascade	119037	each	\$0.83	1	\$0.8300	\$4.15
32044	Correction Fluid	Fluid, Correction, Fast Dry Bond, Foam Applicator, 22 ml, White	55	Dixon Ticonderoga	38919	each	\$0.61	20	\$0.0305	\$36.91

					Oasce	ide School	n ouppiles			
						Package				
Item #	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
		Fluid, Correction, For Everything, Foam Applicator,								
32046	Correction Fluid	22 ml, Buff	50						\$0.0000	\$0.00
		Fluid, Correction, Just For Copies, Foam	4.0						44	440.00
32052	Correction Fluid	Applicator, 22 ml, White	10	.					\$1.0967	\$10.97
		Fluid, Correction, Pen & Ink, Foam Applicator, 22	0.5	Newell	100010					400 50
32053	Correction Fluid	ml, White	25	Brands/Papermate	122310	each	\$1.14	22	\$0.0518	\$28.50
22055	Camaatian Fluid	Day Compostion 24 of White	20	Dia LICA	400405		¢4.05	0	#0.0040	64.44
32055	Correction Fluid	Pen, Correction, .24 oz, White	20	Bic USA	163105	each	\$1.85	8	\$0.2313	\$1.11
32056	Correction Fluid	Dan Correction Tone White	45	Bic USA	35939	ooob	\$2.60	1	\$2.6000	¢117.00
32030	Correction Fluid	Pen, Correction, Tape, White Liquid Paper Dryline Grip Correction Tape,	40	DIC USA	30939	each	φ2.00		\$2.0000	\$117.00
32390	Correction Fluid	Assorted Colors 2/pk	40						\$2.4450	\$195.60
32390	Correction riulu	Assorted Colors 2/pk	40						φ2.4430	φ195.00
		Portfolio, Twin Pocket, Laminated, With Business								
32063	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Black 25/bx	20	Tops Products	27008	25/pkg	\$23.85	25	\$0.9540	\$477.00
02000	OOVEIS/I OITIOIOS	Portfolio, Twin Pocket, Laminated, With Business	20	10031100000	21000	zo/pkg	Ψ20.00	20	ψ0.00+0	φ+11.00
		Card Holder, No Prongs, 8-1/2" x 11", Dark Blue								
32064	Covers/Portfolios	25/bx	20	Tops Products	27005	25/pkg	\$23.85	25	\$0.9540	\$477.00
02001	COVOIGN CITICING	Portfolio, Twin Pocket, Laminated, With Business		TopoTToddoto	27000	20,5119	Ψ20.00		ψο.σο.το	Ψ117.00
		Card Holder, No Prongs, 8-1/2" x 11", Light Blue								
32066	Covers/Portfolios	25/bx	30						\$0.7600	\$570.00
		Portfolio, Twin Pocket, Laminated, With Business								,
32067	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Red 25/bx	20	Tops Products	27009	25/pkg	\$23.85	25	\$0.9540	\$477.00
		Portfolio, Twin Pocket, Laminated, With Business		•		1 0	·		•	·
32068	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", White 25/bx	20	Tops Products	27006	25/pkg	\$23.85	25	\$0.9540	\$477.00
		Cover, Report, Paper Cover, Tang Clip, 1/2"				, ,				
32362	Covers/Portfolios	Capacity, 8-1/2" x 11", Assorted 25/bx	15	Cascade	28171	25/pkg	\$4.65	25	\$0.1860	\$69.75
		Portfolio, Twin Pocket, Laminated, With Business								
32366	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Black 25/bx	10						\$1.6400	\$410.00
		Portfolio, Twin Pocket, Laminated, With Business								
		Card Holder, No Prongs, 8-1/2" x 11", Dark Blue								
32367	Covers/Portfolios	25/bx	10						\$1.6400	\$410.00
		Portfolio, Twin Pocket, Laminated, With Business								
		Card Holder, No Prongs, 8-1/2" x 11", Light Blue								
32368	Covers/Portfolios	25/bx	20						\$1.6400	\$820.00
		Portfolio, Twin Pocket, Laminated, With Business								
32369	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Red 25/bx	20						\$1.6400	\$820.00
	(F	Portfolio, Twin Pocket, Laminated, With Business	_						446	4005.55
32370	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", White 25/bx	5						\$1.6400	\$205.00

					Cascade School Supplies					
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
item#	Calegory	nem Specification	Quantity	Manufacturei	vendor item#	Size	Price blu	UIIIL	Unit Price	Exterision
		Doubtolia Turin Doubtok I aminakad With Duningan								
20204	Carrana/Dantfalia	Portfolio, Twin Pocket, Laminated, With Business	F0F	Tana Daaduata	07040	05 /mls m	<u></u>	25	CO OF 40	¢40 504 05
32381	Covers/Portfolios	Card Holder, No Prongs, 8-1/2" x 11", Green 25/bx	525	Tops Products	27010	25/pkg	\$23.85	25	\$0.9540	\$12,521.25
		Portfolio, Twin Pocket, non-laminated, with								
00000	0 (0 (1)	Business Card Holder, No Prongs, 8-1/2" x 11",	0.5						40.4000	4000.00
32386	Covers/Portfolios	Yellow 25/bx	25						\$0.4800	\$300.00
00070	Desk	Turn Darle Oak Oberling 40 0/400 c 0 0/400 c	00	046.	440044		#0.00	4	# 0.0000	# 00.40
32072	Accessories	Tray, Desk, Self Stacking, 13-3/16" x 2-3/4" x 9"	30	Officemate	118814	each	\$2.68	1	\$2.6800	\$80.40
		Envelope, Clasp, Kraft Paper, 28#, 100/Box, 10" x	4-	Tops Products/Quality	100110	400/ 1	400 =0	400	*****	4007.50
32077	Envelopes	13", Brown 1	15	Park	120446	100/pkg	\$20.50	100	\$0.2050	\$307.50
		Envelope, Clasp, Kraft Paper, 28#, 100/Box, 12" x	_	Tops Products/Quality	100110	400/ 1	***	400	*****	A 1 5 4 8 5
32078	Envelopes	15-1/2", Brown	5	Park	120449	100/pkg	\$30.97	100	\$0.3097	\$154.85
		Envelope, Clasp, Kraft Paper, 28#, 100/Box, 6" x		Tops Products/Quality						
32079	Envelopes	9", Brown	5	Park	120434	100/pkg	\$15.12	100	\$0.1512	\$75.60
		Envelope, Clasp, Kraft Paper, 28#, 100/Box, 9" x		Tops Products/Quality						
32080	Envelopes	12", Brown	20	Park	120443	100/pkg	\$17.14	100	\$0.1714	\$342.80
		Envelope, Interoffice, Printed 2 Sides, 28#,		Tops Products/Quality						
32081	Envelopes	Button/String Enclosure, 10" x 13", Brown 100/pk	15	Park	120391	100/pkg	\$40.05	100	\$0.4005	\$600.75
		Envelope, Plain, 24 lb, Peel Off Strip To Seal, #10,								
32084	Envelopes	White 500/pk	10						\$0.0880	\$440.00
						each (sold				
32086	Envelopes	Moistener, Envelope, With Adhesive, 50 ml 4/pk	10	Tops Products	28968	per ea)	\$1.96	1	\$1.9600	\$78.40
32073	Fasteners	Fastener, Brass Plated, 3/8" x 1" 100/pk	10	Cascade	119049	100/box	\$0.84	100	\$0.0084	\$8.40
32088	Fasteners	Fastener, Brass Plated, 1/2" x 2" 100/pk	10						\$0.0600	\$60.00
		File, Expanding, Heavy Duty, Without Flap, Letter,								
32090	Filing	A-Z, 21 Pocket	20						\$7.0000	\$140.00
		Folder, File, Colored, 1/3 Cut, Letter, Assorted								
32091	Filing	100/pk	40	Cascade	22977	100/pkg	\$7.21	100	\$0.0721	\$288.40
32092	Filing	Folder, File, Colored, 1/3 Cut, Letter, Blue 100/pk	35	Cascade	121639	100/pkg	\$8.00	100	\$0.0800	\$280.00
		Folder, File, Colored, 1/3 Cut, Letter, Bright Green								
32093	Filing	100/pk	30	Cascade	121640	100/pkg	\$8.00	100	\$0.0800	\$240.00
		Folder, File, Colored, 1/3 Cut, Letter, Burgundy								
32094	Filing	100/pk	25						\$0.3000	\$750.00
	-	•								
32095	Filing	Folder, File, Colored, 1/3 Cut, Letter, Gray 100/pk	20						\$0.3000	\$600.00
		Folder, File, Colored, 1/3 Cut, Letter, Navy Blue								
32096	Filing	100/pk	20						\$0.2500	\$500.00
									,	,

					Odoce	ade School	n Supplie:	•		
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
ItOIII #	Outegory	Folder, File, Colored, 1/3 Cut, Letter, Orange	Quartity	Manadatarer	V CHOOL ICHII #	OIZC	T HOC DIG	Offic	Office floor	EXICITSION
32097	Filing	100/pk	25	Cascade	121643	100/pkg	\$8.00	100	\$0.0800	\$200.00
02007	ı ııııg	Τοστρικ	20	Odsoddo	121040	roorping	ψ0.00	100	ψ0.0000	Ψ200.00
32098	Filing	Folder, File, Colored, 1/3 Cut, Letter, Pink 100/pk	25	Cascade	121642	100/pkg	\$8.00	100	\$0.0800	\$200.00
02000	9	Total, the colored, the edg Edger, think too, pk		Guodado	121012	roorping	ψο.σσ	100	ψο.σσσσ	Ψ200.00
32099	Filing	Folder, File, Colored, 1/3 Cut, Letter, Purple 100/pk	25						\$0.2200	\$550.00
	J	, , , , , , , , , , , , , , , , , , , ,								
32100	Filing	Folder, File, Colored, 1/3 Cut, Letter, Red 100/pk	35	Cascade	121638	100/pkg	\$8.00	100	\$0.0800	\$280.00
32101	Filing	Folder, File, Colored, 1/3 Cut, Letter, Teal 100/pk	20						\$0.2500	\$500.00
32102	Filing	Folder, File, Colored, 1/3 Cut, Letter, White 100/pk	25						\$0.2500	\$625.00
32103	Filing	Folder, File, Colored, 1/3 Cut, Letter, Yellow 100/pk	25	Cascade	121641	100/pkg	\$8.00	100	\$0.0800	\$200.00
22125		5 11 5" 1/0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			404000	400/ 1	***	400	******	* 400 00
32105	Filing	Folder, File, 1/3 Cut, Letter, Manila 100/pk	75	Cascade	121268	100/pkg	\$6.64	100	\$0.0664	\$498.00
20400	— :::::	Folder, Hanging, Colored, 1/5 Cut, Letter, Assorted	40	Casaada	400000	0 <i>E la</i> la a	Ф7.00	25	# 0.2040	#70.00
32106	Filing	25/pk Folder, Hanging, Colored, 1/5 Cut, Letter, Black	10	Cascade	123662	25/pkg	\$7.60	25	\$0.3040	\$76.00
32107	Filing	25/pk	2						\$0.8800	\$44.00
32 107	ı iiiig	Folder, Hanging, Colored, 1/5 Cut, Letter, Blue							\$0.0000	φ44.00
32108	Filing	25/pk	6	Cascade	121627	25/pkg	\$7.40	25	\$0.2960	\$44.40
02100	riiiig	Folder, Hanging, Colored, 1/5 Cut, Letter, Bright		Odsoddo	121021	20/pkg	Ψ1.40		ψ0.2300	Ψ++.+0
32109	Filing	Green 25/pk	3	Cascade	121628	25/pkg	\$8.17	25	\$0.3268	\$24.51
02.00	9	Folder, Hanging, Colored, 1/5 Cut, Letter, Burgundy		Guodado	121020	20/ping	ψο. 17		ψ0.0200	Ψ2 1.0 1
32110	Filing	25/pk	2						\$0.8800	\$44.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Gray							·	
32111	Filing	25/pk	2						\$0.8800	\$44.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Orange								
32112	Filing	25/pk	10	Cascade	121625	25/pkg	\$7.40	25	\$0.2960	\$74.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Pink								
32113	Filing	25/pk	3						\$0.8800	\$66.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Purple								
32114	Filing	25/pk	4						\$0.8800	\$88.00
		Folder, Hanging, Colored, 1/5 Cut, Letter, Red								
32115	Filing	25/pk	6	Cascade	121624	25/pkg	\$9.55	25	\$0.3820	\$57.30
00440	Eur	Folder, Hanging, Colored, 1/5 Cut, Letter, Yellow	_	0 .	404000	05/ 1	47. 40	6-	#0.000	007.00
32116	Filing	25/pk	5	Cascade	121626	25/pkg	\$7.40	25	\$0.2960	\$37.00
00446	F90	Folder, Hanging, 5 Tab, Letter, Standard Green	4.5	0	404005	05/1	# 0.40	0.5	#0.0500	#00.00
32118	Filing	25/pk	15	Cascade	121665	25/pkg	\$6.42	25	\$0.2568	\$96.30

			Cascade School Supplies							
						Package				
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
20404	Cilia a	Tab, Plastic, with Inserts, for Hanging File Folders,	20						60 4000	6402.50
32121	Filing	Clear, 3-1/2" 25/pk	30						\$0.1380	\$103.50
		Pocket, File, Top Tab, Red Rope Gusset, with Mylar Strip Reinforcement, 3-1/2" Expansion, Letter								
32383	Filing	25/pk	12	Tops Products	121410	Sold per ea	\$1.01	1	\$1.0100	\$303.00
02000	i iiiig	Pocket, File, Top Tab, Red Rope Gusset, with	14	10001100000	121710	Joid per ea	ψ1.01		ψ1.0100	ψυσυ.συ
		Mylar Strip Reinforcement, 5-1/4" Expansion, Letter								
32384	Filing	10/pk	24	Tops Products	27019	each	\$1.17	1	\$1.1700	\$280.80
52001	9	,					¥ · · · ·	•	Ţ	γ = 00.00
32387	Filing	Folder, File, 1/5 Cut, Letter, Manila 100/pk	24	Cascade	121270	100/pkg	\$6.90	100	\$0.0690	\$165.60
	<u> </u>	Expanding Wallet, Elastic Closure, Letter Size,								
32407	Filing	Brown, 10/Box	30						\$5.5000	\$1,650.00
T		Expanding Wallet, Elastic Closure, Legal Size,								
32408	Filing	Brown, 10/Box	5						\$5.5000	\$275.00
				3M Commercial/Post						
32126	Flags	Flag, Self Stick, 1" x 1.7", Blue 100/pk	10	it	26800	100/pkg	\$4.62	100	\$0.0462	\$46.20
00407	- .	FI 0 1500 1 411 4 711 B : 14 B1 4 200 1	00	3M Commercial/Post	20700	400/ 1	A4.00	400	#0.0400	000.40
32127	Flags	Flag, Self Stick, 1" x 1.7", Bright Blue 100/pk	20	it	26798	100/pkg	\$4.62	100	\$0.0462	\$92.40
22420	Eleas	Elog Colf Ctick 1" v 1.7" Dright Croop 100/51	20	3M Commercial/Post	26700	100/5/5	64.60	100	# 0.0460	¢02.40
32128	Flags	Flag, Self Stick, 1" x 1.7", Bright Green 100/pk	20	it 3M Commercial/Post	26799	100/pkg	\$4.62	100	\$0.0462	\$92.40
32129	Flags	Flag, Self Stick, 1" x 1.7", Bright Pink 100/pk	20	it Commercial/Post	26801	100/pkg	\$4.62	100	\$0.0462	\$92.40
32123	i iays	riag, cen cuck, r x r.r , bright rink 100/pk	20	3M Commercial/Post	20001	TOU/PKg	ψ4.02	100	ψυ.υ4υ2	ψ32.40
32130	Flags	Flag, Self Stick, 1" x 1.7", Green 100/pk	10	it	26802	100/pkg	\$4.53	100	\$0.0453	\$45.30
02.700	. lago	. lag, con cach, i x i.i , croon 100/pk	.0	3M Commercial/Post	20002	100/ping	ψ1.00	.50	ψ0.0-100	Ψ10.00
32131	Flags	Flag, Self Stick, 1" x 1.7", Orange 100/pk	20	it	26803	100/pkg	\$4.62	100	\$0.0462	\$92.40
	<u> </u>	, , , , , , , , , , , , , , , , , , ,		3M Commercial/Post		1 5				,
32132	Flags	Flag, Self Stick, 1" x 1.7", Purple 100/pk	10	it	26804	100/pkg	\$4.62	100	\$0.0462	\$46.20
				3M Commercial/Post						
32133	Flags	Flag, Self Stick, 1" x 1.7", Red 100/pk	15	it	26805	100/pkg	\$4.62	100	\$0.0462	\$69.30
				3M Commercial/Post						
32134	Flags	Flag, Self Stick, 1" x 1.7", White 100/pk	3	it	26806	100/pkg	\$4.62	100	\$0.0462	\$13.86
				3M Commercial/Post						
32135	Flags	Flag, Self Stick, 1" x 1.7", Yellow 100/pk	15	it	26807	100/pkg	\$4.62	100	\$0.0462	\$69.30
20400	Ele	Flag, Self Stick, Printed, "Initial Here" with Arrow, 1"	4						60.0400	640.00
32136	Flags	x 1-3/4", Blue 100/pk	4						\$0.0480	\$19.20
32137	Flags	Flag, Self Stick, Printed, "Notarize" with Arrow, 1" x 1-3/4", Yellow 100/pk	3						\$0.0480	\$14.40
32131	riays	Flag, Self Stick, Printed, "Sign Here" with Arrow, 1"	<u>ა</u>	3M Commercial/Post					φυ.υ 4 ου	φ14.40
32139	Flags	x 1-3/4", Red/Yellow 100/pk	30	it	167223	each	\$5.32	100	\$0.0532	\$159.60
32 133	ı ıayə	Λ 1-3/4 , INEU/ TEIIOW TOU/PK	30	I II	101223	Cauli	ψυ.υΖ	100	ψυ.υυυΖ	ψ108.00

					Cascade School Supplies					
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
			ĺ							
32140	Glue/Adhesives	Glue, 7-5/8 oz, White	50	Newell Brands/Elmers	120673	each	\$2.04	1	\$2.0400	\$102.00
32141	Glue/Adhesives	Putty, Adhesive, Removable, 1 oz	40	3M Commecial/Scotch	23878	2 ounces each	\$1.47	2	\$0.7350	\$29.40
32141	Glue/Auriesives	rutty, Adriesive, Removable, 1 02	40	Commedial/Scoton	23070	Cacii	ψ1.47		φυ.7 330	Ψ29.40
32142	Glue/Adhesives	Stick, Glue, Dries Clear, .28 oz, Purple 18/pk	50	Cascade	26453	sold 12/pkg	\$3.10	12	\$0.2583	\$232.50
						each sold				
32143	Glue/Adhesives	Stick, Glue, Dries Clear, .26 oz, White	60	Cascade	120645	.28 oz	\$0.12	0.28	\$0.4286	\$6.69
00444	18 18 17	Set, Highlighter, Wide Barrel, Chisel Tip, Assorted,	400		0.4500	O/DI	00.45	0	40.0500	0045.00
32144	Highlighters	6/Set Highlighter, Wide Barrel, Chisel Tip, Fluorescent	100	Liqui-Mark	24583	6/Pkg	\$2.15	6	\$0.3583	\$215.00
32145	Highlighters	Green	12	Newell Brands/Sharpie	652	each	\$0.60	1	\$0.6000	\$7.20
02140	riigriiigriters	Highlighter, Wide Barrel, Chisel Tip, Fluorescent	12	Newell	002	Cacii	Ψ0.00		ψ0.0000	Ψ1.20
32146	Highlighters	Orange	12	Brands/Sharpie	14155	each	\$0.60	1	\$0.6000	\$7.20
		Highlighter, Wide Barrel, Chisel Tip, Fluorescent		Newell						
32147	Highlighters	Pink	30	Brands/Sharpie	122933	each	\$0.60	1	\$0.6000	\$18.00
00440	18 18 17	Highlighter, Wide Barrel, Chisel Tip, Fluorescent	00	Newell	17100		40.00		40.0000	054.00
32148	Highlighters	Yellow	90	Brands/Sharpie Newell	17198	each	\$0.60	1	\$0.6000	\$54.00
32149	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Turquoise Blue	12	Brands/Sharpie	122934	each	\$0.60	1	\$0.6000	\$7.20
02110	riigriiigritoro	Trigringition, vvide Barrel, erricer rip, Tarquelee Blae		Newell	122001	Cuon	Ψ0.00	<u> </u>	ψυ.υυυυ	Ψ1.20
32150	Highlighters	Highlighter, Wide Barrel, Chisel Tip, Yellow	60	Brands/Sharpie	122952	each	\$0.60	1	\$0.6000	\$36.00
		Set, Bic Brite Liner Grip Highlighters, Assorted								
32391	Highlighters	Colors 5/pk	50						\$0.7000	\$175.00
00454	local acces O a mala	Card, Index, Non-Bound, Ruled, 3" x 5", Assorted	50	0	00077	400/-1	#0.00	400	#0.0000	044.00
32151	Index Cards	100/pk Card, Index, Non-Bound, Ruled, 3" x 5", Blue	50	Cascade	38377	100/pkg	\$0.88	100	\$0.0088	\$44.00
32152	Index Cards	100/pk	10	Tops Products	31029	100/pkg	\$1.29	100	\$0.0129	\$12.90
02.02	maox carac	Card, Index, Non-Bound, Ruled, 3" x 5", Canary		100011044010	0.1020	100/p//g	ψ1.20	100	ψ0.0120	Ψ12.00
32153	Index Cards	100/pk	10	Tops Products	31030	100/pkg	\$1.29	100	\$0.0129	\$12.90
		Card, Index, Non-Bound, Ruled, 3" x 5", Cherry								
32154	Index Cards	100/pk	10	Cascade	121452	100/pkg	\$0.46	100	\$0.0046	\$4.60
20455	la day Canda	Card, Index, Non-Bound, Ruled, 3" x 5", Green	_	Tama Duaduata	24020	400/=1-=	#4.00	400	#0.0400	ФС 4 <i>Г</i>
32155	Index Cards	100/pk Card, Index, Non-Bound, Ruled, 3" x 5", White	5	Tops Products	31032	100/pkg	\$1.29	100	\$0.0129	\$6.45
32156	Index Cards	100/pk	80	Tops Products	121577	100/pkg	\$0.41	100	\$0.0041	\$32.80
52.55		Card, Index, Non-Bound, Ruled, 4" x 6", White					Ψ σ		70.00.1	702.00
32160	Index Cards	100/pk	50	Cascade	121579	100/pkg	\$0.58	100	\$0.0058	\$29.00
		Card, Index, Non-Bound, Ruled, 5" x 8", White								
32161	Index Cards	100/pk	45	Cascade	121581	100/pkg	\$2.62	100	\$0.0262	\$117.90

			Cascade School Supplies							
14 11	0-1	Harry On a differential	O i't	Managarana	Manalan Bana II	Package	Date of Dist	11	Hote Botos	Establish in
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
22462	Inday Carda	Card, Index, Non-Bound, Unruled, 3" x 5", Blue	20	Tona Draduata	24204	100/ple	#4.20	100	¢ 0.0420	COE OO
32162	Index Cards	100/pk Card, Index, Non-Bound, Unruled, 3" x 5", White	20	Tops Products	31304	100/pkg	\$1.29	100	\$0.0129	\$25.80
32166	Index Cards	100/pk	45	Tops Products	31025	100/pkg	\$0.52	100	\$0.0052	\$23.40
32100	illuex Calus	Card, Index, Non-Bound, Unruled, 4" x 6", White	45	Tops Floudels	31023	TOO/pkg	φ0.52	100	φ0.0032	φ23.40
32170	Index Cards	100/pk	40	Tops Products	121578	100/pkg	\$1.01	100	\$0.0101	\$40.40
32170	IIIuex Caius	Card, Index, Non-Bound, Unruled, 5" x 8", Blue	40	Tops Floudels	121370	100/pkg	Ψ1.01	100	ψ0.0101	ψ40.40
32171	Index Cards	100/pk	7	Cascade	121557	100/pkg	\$1.14	100	\$0.0114	\$7.98
02171	index dards	Card, Index, Non-Bound, Unruled, 5" x 8", White	,	Oasoado	121001	roorping	ψι.ιτ	100	ψ0.0114	Ψ1.50
32174	Index Cards	100/pk	4	Cascade	121580	100/pkg	\$0.57	100	\$0.0057	\$2.28
02171	maox caras	Card, Index, Spiral Bound, Ruled, 3" x 5", Assorted		Cuccuus	121000	тострид	Ψ0.01	100	ψο.σσστ	ΨΕ.ΣΟ
32176	Index Cards	Pastel 50/pk	5						\$0.0750	\$18.75
		Card, Index, Spiral Bound, Ruled, 4" x 6", Assorted								710110
32178	Index Cards	Pastel 50/pk	3						\$0.1000	\$15.00
	-	Card, Index, Spiral Bound, Ruled, 5" x 8", White	-							•
32180	Index Cards	50/pk	15						\$0.0400	\$30.00
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",		Adhesive Label/Avery						
32181	Labels	White 1500/pk	20	Products	132773	1500/pkg	\$4.87	1500	\$0.0032	\$97.40
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",		Adhesive Label/Avery						
32182	Labels	White/Assorted 750/pk	12	Products	132778	750/pkg	\$8.31	750	\$0.0111	\$99.72
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",								
32183	Labels	White/Blue 1500/pk	12						\$0.0293	\$528.00
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",								
32184	Labels	White/Green 1500/pk	12						\$0.0293	\$528.00
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",								
32185	Labels	White/Red 1500/pk	12						\$0.0193	\$348.00
		Label, File Folder, Laser/Inkjet, 2/3" x 3-7/16",								
32186	Labels	White/Yellow 1500/pk	12						\$0.0193	\$348.00
		Label, File Folder, Removable, Laser/Inkjet, 2/3" x 3-								
32187	Labels	7/16", Assorted 750/pk	2						\$0.0333	\$50.00
		Label, Full Sheet, Laser/Inkjet, 8-1/2" x 11", White								
32188	Labels	100/pk	10	Adhesive Label	29576	25/pkg	\$3.78	25	\$0.1512	\$151.20
00400		Label, Name Badge, Laser/Inkjet, 2-1/3" x 3-3/8",	_						40.00==	470.00
32190	Labels	Red Border, 400/pk	2						\$0.0975	\$78.00
20404	Labele	Label, Name Badge, Laser/Inkjet, 2-1/3" x 3-3/8",	40						60.000	#4FC 00
32191	Labels	White 400/pk	12						\$0.0325	\$156.00
22402	Lobolo	Lobol Moiling Logor 4" v 2 5/9" White 2000/-1-	50	Ayon, Droducto	20642	3000/box	000 74	2000	<u></u> ቀለ በ430	¢1 025 50
32193	Labels	Label, Mailing, Laser, 1" x 2-5/8", White 3000/pk	50	Avery Products Adhesive Label/Avery	29642	XOU/DOX	\$38.71	3000	\$0.0129	\$1,935.50
22104	Labela	Label Mailing Lagar 1 1/2" v 4" White 1400/sk	20	•	121047	1400/box	¢7 00	1400	<u></u>	¢1/1 00
32194	Labels	Label, Mailing, Laser, 1-1/3" x 4", White 1400/pk	20	Products	121047	1400/box	\$7.09	1400	\$0.0051	\$141.80

				Cascade School Supplies						
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
	- Janagary	nom opcomosmon	Quantity			0.25	. noo Dia	0		
32195	Labels	Label, Mailing, Laser, 3-1/3" x 4", White 600/pk	20	Avery Products	33194	600/box	\$39.86	600	\$0.0664	\$797.20
32394	Labels	Label, Mailing, Laser, 2' x 4", White 1000/pk	20	Adhesive Label	121048	1000/box	\$11.95	1000	\$0.0120	\$239.00
32196	Markers	Marker, Permanent, Chisel Tip, Black	50	Avery Products	24706	each	\$0.72	1	\$0.7200	\$36.00
32197	Markers	Marker, Permanent, Chisel Tip, Blue	40	Newell Brands/Sharpie	26421	each	\$0.90	1	\$0.9000	\$36.00
32198	Markers	Marker, Permanent, Chisel Tip, Red	30	Avery Products	26137	each	\$0.65	1	\$0.6500	\$19.50
32200	Markers	Set, Marker, Permanent, Fine Point, Assorted, 4/set	50	Newell Brands/Sharpie	121864	4/set	\$4.47	4	\$1.1175	\$223.50
				Newell			·			·
32201	Markers	Set, Marker, Permanent, Fine Point, Assorted, 8/set	60	Brands/Sharpie Newell	168917	8/set	\$6.33	8	\$0.7913	\$379.80
32202	Markers	Marker, Permanent, Fine Point, Black 12/pk	50	Brands/Sharpie	15854	dozen	\$10.61	12	\$0.8842	\$530.50
32203	Markers	Marker, Permanent, Fine Point, Blue 12/pk	15	Newell Brands/Sharpie	15855	dozen	\$10.61	12	\$0.8842	\$159.15
32206	Markers	Marker, Permanent, Fine Point, Red 12/pk	20	Newell Brands/Sharpie	15856	dozen	\$10.61	12	\$0.8842	\$212.20
32208	Markers	Marker, Permanent, Metallic Silver 12/pk	10	Newell Brands/Sharpie	26206	dozen	\$15.34	12	\$1.2783	\$153.40
		Set, Marker, Washable, Conical Tip, Assorted,	100	Crayola			\$5.18			
32209	Markers	12/set Set, Marker, Dry Erase, Bullet Tip, Thick Barrel,	100	Newell	165287	12/set	Ф Э. 10	12	\$0.4317	\$518.00
32210	Markers	Assorted, 4/set	90	Brands/Sharpie	190061	4/set	\$4.44	4	\$1.1100	\$399.60
32211	Markers	Set, Marker, Dry Erase, Bullet Tip, Thick Barrel, Assorted, 8/set	60	Newell Brands/Expo	150191	8/set	\$9.42	8	\$1.1775	\$565.20
32212	Markers	Marker, Dry Erase, Chisel Tip, Thick Barrel, Black 12/pk	80	Newell Brands/ Expo	24047	dozen	\$14.31	12	\$1.1925	\$1,144.80
32213	Markers	Marker, Dry Erase, Chisel Tip, Thick Barrel, Blue 12/pk	65	Newell Brands/Expo	25708	dozen	\$14.31	12	\$1.1925	\$930.15
32214	Markers	Marker, Dry Erase, Chisel Tip, Thick Barrel, Green 12/pk	60	Newell Brands/Expo	24049	dozen	\$14.31	12	\$1.1925	\$858.60
		Marker, Dry Erase, Chisel Tip, Thick Barrel, Red		•			·		•	
32215	Markers	12/pk Set, Marker, Dry Erase, Low Odor, Chisel Tip,	60	Newell Brands/Expo	24051	dozen	\$14.31	12	\$1.1925	\$858.60
32216	Markers	Thick Barrel, Assorted, 12/set	75	Newell Brands/Expo	33990	12/set	\$14.30	12	\$1.1917	\$1,072.50
32217	Markers	Set, Marker, Dry Erase, Low Odor, Chisel Tip, Thick Barrel, Assorted, 4/set	90	Newell Brands/Expo	131176	4/set	\$4.44	4	\$1.1100	\$399.60

				Guodad Concor Cubines						
Itom #	Cotomomy	Item Specification	Quantity	Manufacturer	Vander Hem #	Package	Price Bid	Unit	Unit Drice	Extension
Item #	Category	Set, Marker, Dry Erase, Low Odor, Fine Tip, Thick	Quantity	Manuracturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
32218	Markers	Barrel, Assorted, 8/set	40	Newell Brands/Expo	33359	8/set	\$7.95	8	\$0.9938	\$318.00
32210	IVIAIREIS	Darrei, Assorted, 6/Set	40	Newell Brands/vis-à-	33339	o/Set	Φ1.95		φυ.9936	φ310.00
32219	Markers	Set, Marker, Wet Erase, Fine Point, Assorted, 4/set	5	VİS	121949	4/set	\$4.94	4	\$1.2350	\$24.70
OZZIO	Markoro	Cot, Markor, Wot Eraso, Fino Form, Accorda, 4700t	0	VIO	121010	17001	Ψ1.01		Ψ1.2000	Ψ24.70
32220	Markers	Set, Marker, Wet Erase, Fine Point, Assorted, 8/set	5						\$1.5000	\$60.00
		, , , , , , , , , , , , , , , , , , , ,	_	Newell Brands/vis-à-					•	,
32221	Markers	Marker, Wet Erase, Fine Point, Black 12/pk	6	vis	22887	dozen	\$14.52	12	\$1.2100	\$87.12
		Marker, Dry Erase, Low Odor, Bullet Tip, Thick								
32371	Markers	Barrel, Black 12/pk	10	Newell Brands/Expo	31841	dozen	\$14.31	12	\$1.1925	\$143.10
		Marker, Dry Erase, Low Odor, Bullet Tip, Thick								
32372	Markers	Barrel, Red 12/pk	5	Newell Brands/Expo	31842	dozen	\$14.31	12	\$1.1925	\$71.55
		Marker, Dry Erase, Low Odor, Bullet Tip, Thick	_			_				
32373	Markers	Barrel, Blue 12/pk	5	Newell Brands/Expo	31843	dozen	\$14.31	12	\$1.1925	\$71.55
00074		Marker, Dry Erase, Low Odor, Bullet Tip, Thick	_	N	0.40.40		04404	40	04.400 5	074.55
32374	Markers	Barrel, Green 12/pl	5	Newell Brands/Expo	24049	dozen	\$14.31	12	\$1.1925	\$71.55
22202	Markara	Cat Marker Flip Chart Asserted 9/Cat	10	Newell	160771	0/aat	¢ 7.00	0	#0.0400	07.26
32393	Markers	Set, Marker, Flip Chart, Assorted 8/Set Marker, Wet Erase, Bullet tip, Brightsticks	12	Brands/Sharpie	168771	8/set	\$7.28	8	\$0.9100	\$87.36
32395	Markers	Fluorescent, Assorted, 5/set	5	Newell Brands	136750	5/set	\$16.17	5	\$3.2340	\$80.85
02000	Markers	Book, Phone Message, Spiral Bound, 2-Part		Newell Dialius	100700	3/361	ψ10.17		ψ3.23+0	Ψ00.00
32223	Message Books	Messages/Book	5	Cascade	31692	each	\$3.86	1	\$3.8600	\$19.30
OLLLO	Moodage Booke	Wioddagod/Book		Cassage	01002	Guori	ψυ.υυ		ψο.σσσσ	Ψ10.00
32226	Miscellaneous	Bookend, Heavy Gauge Steel, 9", Black, Pair	20	Cascade	120912	pair	\$5.93	1	\$5.9300	\$118.60
		Box, Storage, Letter, Stacking Strength 500, 10" x				·	·		•	
32227	Miscellaneous	12" x 24" 12/pk	25	Fellowes Inc	27361	each	\$7.10	1	\$7.1000	\$2,130.00
						boxes/case				
32229	Miscellaneous	Tissue, Facial, 2-Ply 100/bx, 30bx/cs	210	Cascade	26457	(100/box)	\$25.70	3000	\$0.0086	\$5,397.00
			_						***	
32231	Miscellaneous	Pad, Wrist Rest, Computer, Rubber Backed	8	Acco Brands	140437	each	\$10.04	1	\$10.0400	\$80.32
00050	NA' II	Tape, Labeler, for Brother TZ Series, 1/2", Black on	•						440.000	200.00
32359	Miscellaneous	White	3						\$12.0000	\$36.00
		Remover, Adhesive, Acid Free, Removes Sticker,								
32364	Miscellaneous	Tape and Labels, Non-Damaging and Non-Staining to Most Surfaces, 32 oz	4						\$11.0000	\$44.00
32304	iviiScellalleous	to iviosi surfaces, 32 02	4						φ11.0000	φ44.00
32365	Miscellaneous	Pad, Wrist Rest, Computer Keyboard, Gel	8	3M Commercial	28811	each	\$21.53	1	\$21.5300	\$172.24
02000		Box, Storage, Letter, Stacking Strength 750, 10" x	,	om commorati	20011	sold per	Ψ=1.00		Ψ=1.0000	Ψ112.27
32385	Miscellaneous	12" x 24" 12/cs	9	Fellowes Inc	11877	each	\$9.74	1	\$9.7400	\$87.66
		-	-	AMAX Stanley	-		т -		r	
32388	Miscellaneous	Sharpener, Pencil, Black,with safety switch	15	Bostitch	23569	each	\$20.06	1	\$20.0600	\$300.90
				•						

				Cascade School Supplies				<u> </u>		
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
32389	Miscellaneous	Pad, dispenser for 3" x 3" notes	15	3M Commercial	163697	each	\$8.11	1	\$8.1100	\$121.65
32397	Miscellaneous	Finger Tips, size 12, medium/large 12/box	28	Acco Brands	36297	12/pkg	\$2.24	12	\$0.1867	\$62.72
32410	Miscellaneous	Fingertip Moistener, 1.75 oz, 2 pk	10						\$1.7500	\$35.00
32232	Pads/Paper	Pad, Easel, Unruled, 18 lb Paper, 27" x 34", 2/pk	20	Ideal Paper	37583	2/pkg	\$14.17	2	\$7.0850	\$283.40
32233	Pads/Paper	Pad, Easel, Self-Stick, Unruled, 25" x 30", 2/pk	40	3M Commercial/Post it	32105	2/pkg	\$53.24	2	\$26.6200	\$2,129.60
32280	Pads/Paper	Pad, Self Stick, Unruled, 1-1/2" x 2", Canary Yellow 24/pk	20	3M Commercial/Post it	32236	24/pkg	\$18.81	24	\$0.7838	\$376.20
32281	Pads/Paper	Pad, Self Stick, Unruled, 3" x 3", Canary Yellow 18/pk	140	3M Commercial/Post it	28479	18/pkg	\$18.23	18	\$1.0128	\$2,552.20
32282	Pads/Paper	Pad, Self Stick, Unruled, 3" x 5", Canary Yellow 24/pk	70	3M Commercial/Post it	35311	24/pkg	\$31.28	24	\$1.3033	\$2,189.60
32283	Pads/Paper	Pad, Self Stick, Ruled, 3" x 3", Canary Yellow 6/pk	102	3M Commercial/Post it	18717	6/pkg	\$7.32	6	\$1.2200	\$746.64
32284	Pads/Paper	Pad, Self Stick, Ruled, 3" x 5", Canary Yellow 12/pk	60	3M Commercial/Post it	32077	dozen	\$20.74	12	\$1.7283	\$1,244.40
32285	Pads/Paper	Pad, Self Stick, Ruled, 4" x 6", Canary Yellow 5/pk	60	3M Commercial/Post it	34049	5/pkg	\$12.12	5	\$2.4240	\$727.20
32286	Pads/Paper	Pad, Self Stick, Pop Up, Unruled, 3" x 3", Canary Yellow 12/pk	40	3M Commercial/Post it	32067	dozen	\$14.85	12	\$1.2375	\$594.00
32287	Pads/Paper	Pad, Self Stick, Pop Up, Unruled, 3" x 3", Canary Yellow 12/pk	35	3M Commercial/Post it	34577	24/pkg	\$25.46	24	\$1.0608	\$445.55
32288	Pads/Paper	Pad, Self Stick, Pop Up, Ruled, 3" x 3", Canary Yellow 6/pk	20	3M Commercial/Post it	18730	6/pkg	\$8.38	6	\$1.3967	\$167.60
32289	Pads/Paper	Pad, Self Stick, Pop Up, Super Sticky, Unruled, 3" x 3", Canary Yellow 12/pk	20						\$1.0000	\$240.00
32290	Pads/Paper	Pad, Self Stick, Super Sticky, Unruled, 2" x 2", Canary Yellow 10/pk	30						\$0.5500	\$165.00
32293	Pads/Paper	Pad, Self Stick, Super Sticky, Unruled, 3" x 5", Canary Yellow 12/pk	25						\$1.6667	\$500.00
32294	Pads/Paper	Pad, Self Stick, Super Sticky, Ruled, 4" x 4", Canary Yellow 12/pk	20	3M Commercial/Post it	28483	12/pkg	\$19.88	12	\$1.6567	\$397.60
32295	Pads/Paper	Pad, Self Stick, Super Sticky, Ruled, 4" x 6", Canary Yellow 5/pk	20						\$2.0000	\$200.00
32331	Pads/Paper	Pad, Steno, Wire Bound, Gregg Ruled, Center Line, 6" x 9", Green	70	Cascade	110466	each	\$0.94	1	\$0.9400	\$65.80

			Cascade School Supplies							
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item#	Package Size	Price Bid	Unit	Unit Price	Extension
32333	Pads/Paper	Pad, Writing, 15# Paper, 5" x 8", White 12/pk	15	Cascade	123687	dozen	\$3.59	12	\$0.2992	\$53.85
32334	Pads/Paper	Pad, Writing, Glue Top, 15# Paper, 8-1/2" x 11", White 12/pk	90	Cascade	5226	dozen	\$5.31	12	\$0.4425	\$477.90
32335	Pads/Paper	Pad, Writing, Glue Top, 15# Paper, 8-1/2" x 11", Yellow 12/pk	30	Cascade	15876	dozen	\$6.20	12	\$0.5167	\$186.00
32336	Pads/Paper	Pad, Writing, Wide Ruled, 15# Paper, Perforated, 8-1/2" x 11", White 12/pk		-			•		\$0.9167	\$495.00
32404	Pads/Paper	Full stick notes, 3" x 3" Rio De Janeiro Collections, asst colors, 12 pads/pk	25	3M Commercial/Post it	34578	24/pkg	\$29.88	24	\$1.2450	\$373.50
32234	Pens/Pencils	Pencil Leads, Mechanical, .5mm, HB Softness 12/pk	20	Pentel Of America	170768	each	\$0.60	12	\$0.0500	\$12.00
32235	Pens/Pencils	Pencil, #2 12/pk	240	Dixon Ticonderoga	148766	dozen	\$1.75	12	\$0.1458	\$420.00
32236	Pens/Pencils	Set, Pencil, Colored, 3.3mm Lead, Assorted, 24/set	50	Crayola	149601	24/set	\$3.51	24	\$0.1463	\$175.50
32237	Pens/Pencils	Pencil, Mechanical, .5mm 12/pk	30	Pentel Of America	35982	dozen	\$7.02	12	\$0.5850	\$210.60
32238	Pens/Pencils	Pen, Ballpoint, Cushioned Grip, Medium Tip, Black 12/pk	30	Bic USA	19535	dozen	\$2.38	12	\$0.1983	\$71.40
32239	Pens/Pencils	Pen, Ballpoint, Cushioned Grip, Medium Tip, Blue 12/pk	50	Bic USA	19536	dozen	\$2.38	12	\$0.1983	\$119.00
32240	Pens/Pencils	Pen, Ballpoint, Cushioned Grip, Medium Tip, Red 12/pk	25	Bic USA	25830	dozen	\$2.38	12	\$0.1983	\$59.50
32241	Pens/Pencils	Pen, Ballpoint, Fine Point, Black 12/pk	20	Pentel Of America	34493	dozen	\$6.36	12	\$0.5300	\$127.20
32242	Pens/Pencils	Pen, Ballpoint, Fine Point, Blue 12/pk	25	Pentel Of America	34495	dozen	\$6.36	12	\$0.5300	\$159.00
32243	Pens/Pencils	Pen, Ballpoint, Fine Point, Red 12/pk	20	Pentel Of America	34494	dozen	\$6.36	12	\$0.5300	\$127.20
32244	Pens/Pencils	Pen, Ballpoint, Medium Point, Black 12/pk	90	Pentel Of America	26134	dozen	\$6.36	12	\$0.5300	\$572.40
32245	Pens/Pencils	Pen, Ballpoint, Medium Point, Blue 12/pk	75	Pentel Of America	24461	dozen	\$6.36	12	\$0.5300	\$477.00
32246	Pens/Pencils	Pen, Ballpoint, Medium Point, Red 12/pk	25	Pentel Of America	24460	dozen	\$6.36	12	\$0.5300	\$159.00
32247	Pens/Pencils	Pen, Ballpoint, Medium Tip, Black 12/pk	45	Newell Brands/Papermate	123131	dozen	\$1.36	12	\$0.1133	\$61.20
32248	Pens/Pencils	Pen, Ballpoint, Medium Tip, Blue 12/pk	20	Newell Brands/Papermate	123065	dozen	\$1.36	12	\$0.1133	\$27.20

				Cascade School Supplies										
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension				
Itom#	Category	item opeomeation	Quantity	Newell	Vendor item#	OIZC	T TICC DIG	Offic	Office field	LACTISION				
32249	Pens/Pencils	Pen, Ballpoint, Medium Tip, Red 12/pk	10	Brands/Papermate	123066	dozen	\$1.36	12	\$0.1133	\$13.60				
32250	Pens/Pencils	Pen, Double Ended, Wood Cased, Black/Red 12/pk	5	Larose Rose Moon	123056	dozen	\$7.94	12	\$0.6617	\$39.70				
32251	Pens/Pencils	Pen, Double Ended, Wood Cased, Blue/Red 12/pk	5	Larose Rose Moon	123055	dozen	\$7.94	12	\$0.6617	\$39.70				
32252	Pens/Pencils	Pen, Felt Tip, Fine Point, Black 12/pk	25	Newell Brands/Papermate	15871	dozen	\$15.01	12	\$1.2508	\$375.25				
32253	Pens/Pencils	Pen, Felt Tip, Fine Point, Blue 12/pk	20	Liqui-Mark	28653	dozen	\$3.26	12	\$0.2717	\$65.20				
32254	Pens/Pencils	Pen, Felt Tip, Fine Point, Green 12/pk	15	Liqui-Mark	28654	dozen	\$3.26	12	\$0.2717	\$48.90				
32255	Pens/Pencils	Pen, Felt Tip, Fine Point, Purple 12/pk	15						\$1.3333	\$240.00				
32256	Pens/Pencils	Pen, Felt Tip, Fine Point, Red 12/pk	20	Liqui-Mark	28655	dozen	\$3.26	12	\$0.2717	\$65.20				
32257	Pens/Pencils	Pen, Rollerball, Fine Tip, Black 12/pk	50	Uniball/Sanford	15875	dozen	\$10.61	12	\$0.8842	\$530.50				
32258	Pens/Pencils	Pen, Rollerball, Fine Tip, Blue 12/pk	30	Uniball/Sanford	24982	dozen	\$10.61	12	\$0.8842	\$318.30				
32259	Pens/Pencils	Pen, Rollerball, Fine Tip, Red 12/pk	10	Uniball/Sanford	26234	dozen	\$10.61	12	\$0.8842	\$106.10				
32405	Pens/Pencils	Pen, Rollerball, Retractable, Jetstream RT, Bold, Black 12/pk	8						\$2.9167	\$280.00				
32406	Pens/Pencils	Pen, Rollerball, Retractable, Jetstream RT, Bold, Blue 12/pk	7						\$2.9167	\$245.00				
32260	Pins/Tacks	Pin, Push, Plastic, Assorted, 100/pk	30	Cascade	169212	100/box	\$0.45	100	\$0.0045	\$13.50				
32261	Pins/Tacks	Pin, Push, Plastic, Clear, 100/pk	20	Cascade	119102	100/box	\$0.39	100	\$0.0039	\$7.80				
32262	Pins/Tacks	Tack, Thumb, Highly Polished Steel, 7/16", 100/pk	20	Cascade	118968	100/box	\$0.48	100	\$0.0048	\$9.60				
32263	Punches	Punch, 1-Hole, Chrome, Handspring, With Clippings Recepticle	7	Charles Leonard	119615	each	\$0.68	1	\$0.6800	\$4.76				
32264	Punches	Punch, 3-Hole, Economy, 10 Sheet Capacity, 9/32" Diameter Holes	40	Cascade	119640	each	\$3.65	1	\$3.6500	\$146.00				
32265	Punches	Reinforcement, Self Adhesive, White, 200/pk	40	Cascade	121241	200/box	\$0.72	200	\$0.0036	\$28.80				
32343	Punches	Punch, 3-Hole, Electric, Commercial, 28 Sheet Capacity	15	AMAX Stanley Bostitch	28881	each	\$42.76	1	\$42.7600	\$641.40				

			Cascade School Supplies							
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit	Unit Price	Extension
32268	Rubber Bands	Rubber Band, Assorted 1#	20	Alliance Rubber	120210	pound	\$3.48	1	\$3.4800	\$69.60
32269	Rubber Bands	Rubber Band, 117B, 7" x 1/8" 12/pk	20	Alliance Rubber	121185	12/pkg	\$0.86	12	\$0.0717	\$17.20
32270	Rubber Bands	Rubber Band, 19, 1/16" x 3-1/2" 1#	10	Cscade	35156	pound	\$3.81	1	\$3.8100	\$38.10
32271	Rubber Bands	Rubber Band, 33, 3-1/2" x 1/8" 1#	25						\$4.5000	\$112.50
32272	Rubber Bands	Rubber Band, 64, 1/4" x 3-1/2" 1#	20	Alliance Rubber	120214	pound	\$3.48	1	\$3.4800	\$69.60
32273	Rulers	Ruler, Wood, Metal Edge, 12"	50	Cascade	119977	each	\$0.80	1	\$0.8000	\$40.00
32274	Rulers	Ruler, Wood, Metal Edge, 15"	15	Cascade	119978	each	\$0.68	1	\$0.6800	\$10.20
32276	Scissors	Scissor, Straight, Stainless Steel, 7"	14	Fiskars Brands	30013	each	\$1.13	1	\$1.1300	\$15.82
32277	Scissors	Scissor, Straight, Softgrip Handle, 8"	83	Fiskars Brands	30008	each	\$2.80	1	\$2.8000	\$232.40
32278	Scissors	Scissor, Straight, Stainless Steel Blades, 8"	14	3M Commercial/Scotch	28793	pair	\$3.60	1	\$3.6000	\$50.40
32298	Stamps	Pad, Stamp, Foam Rubber, #1, 2-3/4" x 4-1/4", Black	18	Cascade	121787	each	\$1.28	1	\$1.2800	\$23.04
32299	Stamps	Pad, Stamp, Foam Rubber, #1, 2-3/4" x 4-1/4", Red	20	Cascade	121785	each	\$1.28	1	\$1.2800	\$25.60
32300	Staples/Staplers	Remover, Staple, Claw Type	34	Cascade	119723	each	\$0.35	1	\$0.3500	\$11.90
32301	Staples/Staplers	Stapler, Economy	75	AMAX Stanley Bostitch	159469	each	\$4.61	1	\$4.6100	\$345.75
32302	Staples/Staplers	Stapler, Electric, Anti-Jam Feature, 20 Sheet Capacity	24	AMAX Stanley Bostitch	154066	each	\$41.10	1	\$41.1000	\$986.40
32303	Staples/Staplers	Staple, Cartridge, 5000/pk	25	Acco Brands/Swingline	119654	5000/box	\$12.89	5000	\$0.0026	\$322.25
32304	Staples/Staplers	Staple, Heavy Duty, 1/2", 1000/pk	7	AMAX Stanley Bostitch	119682	1000/box	\$2.30	1000	\$0.0023	\$16.10
32305	Staples/Staplers	Staple, Heavy Duty, 1/4", 1000/pk	7	AMAX Stanley Bostitch	119680	1000/box	\$1.90	1000	\$0.0019	\$13.30
32307	Staples/Staplers	Staple, Standard, 5000/pk	150	Cascade	119764	5000/box	\$0.58	5000	\$0.0001	\$87.00
32361	Staples/Staplers	Stapler, Electric, 30 Sheet Capacity	20	Acco Brands/Swingline	31248	each	\$90.25	1	\$90.2500	\$1,805.00

				Cascade School Supplies						
	0.1	11 0 15 11	0 13			Package	D: 03			
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
00000	-	Dispenser, Tape, For Desk, Holds 1" Core, Black,	00	3M	40000		00.04		000400	# 400.00
32308	Таре	non skid base	32	Commercial/Scotch	18680	each	\$3.24	1	\$3.2400	\$103.68
32310	Tape	Core, Tape Dispenser, Replacement, 1"	30						\$0.6500	\$19.50
32310	Тарс	Core, Tape Dispenser, Neplacement, 1	30	3M					ψ0.0300	Ψ19.50
32311	Tape	Tape, Book Repair, 3" Core, 2" x 540"	14	Commercial/Scotch	169392	each	\$6.68	1	\$6.6800	\$93.52
				3M			7		7	700.0=
32312	Tape	Tape, Book Repair, 3" Core, 3" x 540"	14	Commercial/Scotch	169393	each	\$10.16	1	\$10.1600	\$142.24
32313	Tape	Tape, Box, Clear, 3" Core, 2" x 2160"	44	3M Commercial	170153	each	\$1.35	1	\$1.3500	\$59.40
00044	-	T 0 (1 41: 4/0) 700							40.000	207.00
32314	Таре	Tape, Correction, 1 Line, 1/6" x 700"	9	0M4 O 1/D +					\$3.0000	\$27.00
22215	Tono	Tono Correction 2 Line 1/2" v 700"	6	3M Commercial/Post	119130	oooh	ድጋ በበ	1	42 0000	¢17.40
32315	Tape	Tape, Correction, 2 Line, 1/3" x 700"	6	it	119130	each	\$2.90	<u> </u>	\$2.9000	\$17.40
32317	Tape	Tape, Correction, Grip Dispenser, 1/5" x 355", 2/pk	25						\$1.2500	\$62.50
02011	Таро	rape, correction, one properties, the xeec, 2/pix							V112000	\$02.00
32318	Tape	Tape, Masking, 3" Core, 1" x 2160" 12/pk	55	3M Commercial	37796	dozen	\$19.74	12	\$1.6450	\$1,085.70
	•						•		•	
32319	Tape	Tape, Masking, 3" Core, 2" x 2160" 12/pk	18	3M Commercial	123278	sold 1 each	\$3.13	1	\$3.1300	\$676.08
32320	Tape	Tape, Masking, 3" Core, 3/4" x 2160" 12/pk	13	3M Commercial	37795	dozen	\$13.87	12	\$1.1558	\$180.31
20004	_	Tape, Packaging, Premium Heavy-Duty, Clear, At		3M	0.4000	(1.88"x54.6	400.05	•	A11-	* 4 * 6 * 6 * 7 * 7
32321	Таре	Least 3.0 Mil, 2" x 54.6 Yards, 3" core 6/pk	55	Commercial/Scotch	31362	yrds)	\$33.25	6	\$5.5417	\$1,828.75
2222	Tono	Tape, Refill, Clear, Glossy Finish, 1" Core, 1/2" x 1296"	117	3M	100167	aaab	¢0.76	1	#0.7600	¢00.00
32322	Tape	Tape, Refill, Clear, Glossy Finish, 1" Core, 3/4" x	117	Commercial/Highland 3M	123167	each	\$0.76	ļ	\$0.7600	\$88.92
32323	Tape	1296"	81	Commercial/Highland	123168	each	\$1.10	1	\$1.1000	\$89.10
02020	тарс	Tape, Refill, Invisible, Can Be Written On, 1" Core,	01	3M	120100	Caon	ψ1.10		ψ1.1000	Ψ03.10
32324	Tape	1/2" x 1296"	60	Commercial/Scotch	123205	each	\$1.94	1	\$1.9400	\$116.40
		Tape, Refill, Invisible, Can Be Written On, 1" Core,		3M						,
32325	Tape	3/4" x 1296"	80	Commercial/Scotch	123166	each	\$2.64	1	\$2.6400	\$211.20
32396	Tape	Tape, Magnetic Adhesive Tape Roll, 1" H x 50' L	13						\$58.0000	\$754.00
	_	Tape, Packaging Tape Hand Dispenser, refillable,								
32402	Tape	for 3" core tapes	10	Cascade	123305	each	\$5.64	1	\$5.6400	\$56.40
20207	\^/lai4alaaaaa	Classes Whitehaud Dunes Cours 40	40	Anna Duands	100404	17	#40.50	47	#0.7050	6547.57
32327	Whiteboard	Cleaner, Whiteboard, Pump Spray, 16 oz	43	Acco Brands	189464	each 17oz	\$13.53	17	\$0.7959	\$547.57
32328	Whiteboard	Cleaner, Whiteboard, Pump Spray, 8 oz	31	Newell Brands/Expo	107108	each	\$3.13	8	\$0.3913	\$97.03
32320	vviilleboard	Oleaner, Willieboard, Fullip Spray, 6 02	ا ل	I MEMEII DIAHUS/EXPO	101 100	Each	φυ. ΙΟ	0	φυ.3913	φ 3 1.U3

Cascade School Supplies

	_					Package				
Item#	Category	Item Specification	Quantity	Manufacturer	Vendor Item #	Size	Price Bid	Unit	Unit Price	Extension
32329	Whiteboard	Eraser, Whiteboard, Soft Pile Felt	84	Newell Brands/Expo	190062	each	\$2.50	1	\$2.5000	\$210.00
32330	Whiteboard	Towelette, Dry Erase, Pre-Moistened, 50/pk	15						\$5.5000	\$82.50
32375	Whiteboard	Eraser, Whiteboard, Magnetic, Soft Pile Felt	20	Cascade	33379	each	\$1.41	1	\$1.4100	\$28.20

\$95,498.99